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Question Number : 1 Question Id : 586180181 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

War is related to destruction the same way as smoke is related to:
Options:
1. % buming sensation

? % ash formation
3 . pollution

/. » congestion

Question Number : 1 Question Id : 586180181 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T, w99 ¥ 38 YR §aNT § ow 9ER g3, e & wefa

Options:

1, » o @ I

2. o« U™ a1

3. @ g



Question Number : 2 Question Id : 586180182 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option in which the words share the same relationship as that shared by the given pair of words.

Vision : speech
Options:

1. + Blindness : dumbness

2 % Hearing : writing

3 x Locomotion : paralysis

4. Talking : loudness

i

Question Number : 2 Question Id : 586180182 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T¢ ey Io [SHA weE F@ §EY guid § S WEl & G¢ AT A3 A g

zfoe : amfr
Options:
1 o 3T FEar

3. w Tdold [ olehdl



4. w ST FEAT @ Fear

Question Number : 3 Question Id : 586180183 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Given below are five designs/figures, two of which are identical. Which two are identical?

Options:
1. # AandD

? % CandE
3. « BandD

4 % BandE

Question Number : 3 Question Id : 586180183 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 4 Question Id : 586180184 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Three of the following four letter clusters are similar in a certain way, and one is different. Find the one which is
different from the rest.

Options:
1. « HSOL

? % BYVE

3. & FUSH

4. v DWEV

Question Number : 4 Question Id : 586180184 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e =R R gl A @ A9 o AfRea ger @ guw € #R ow fiew B Av @ e e

Options:

1. = HSOL



2 % BYVE
3. % FUSH

4. + DWEV

Question Number : 5 Question Id : 586180185 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Two rotated positions of the same dice are given below. Which number will be on the face opposite to the face

containing 5?

LA

Options:
1.« 1

2.% 3

Question Number : 5 Question Id : 586180185 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:



Question Number : 6 Question Id : 586180186 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Among six objects, A, B, C, D, E and F, D is twice as heavy as B. C is half as heavy as E. B and E together are one and
a half times as heavy as A. A is one and a half times as heavy as D. F is one and a half times as heavy as C. Which is the
heaviest of all?

Options:
1. = F

Question Number : 6 Question Id : 586180186 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. = F



Question Number : 7 Question Id : 586180187 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which two of the following six numbers are the same?

(A) 69253874 (B)69258374 (C)69285374
(D) 69253784 (E) 69283574  (F) 69258374
Options:
1. « BandE

? % AandD

3 « BandF

4] % CandF

Question Number : 7 Question Id : 586180187 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

= o TEuE # ¥ S O & g 22

(A) 69253874  (B) 69258374 (C) 69285374
(D) 69253784 (E) 69283574  (F) 69258374

Options:



Question Number : 8 Question Id : 586180188 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

There are five pairs of letter clusters, in each of which, the second one is a ransformation of the first, in terms of the
arrangement of letters of the first cluster in a particular order. In which two of the following five pairs, has the
transformation been done in the same way?

(A) SZPQR - PZSRQ (B) KMRDZ - RMDZK
(C) HKILPT - LKHTP (D) TQRGD - QRTDG
(E) MGKWT - GKMWT

Options:

1. *« BandD

? & AandC

3. % CandE

4 % AandE

Question Number : 8 Question Id : 586180188 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



3N THEN & 9 A2 ¢, TH ¥ TS HA, TUF FAg & W & U @99 FA H Rears & Hew H
SERT, UEe F FOROT 8| e 9= A5 A F B & F TR0 U & R § R aw g?

(A) SZPQR - PZSRQ (B) KMRDZ - RMDZK
(C) HKLPT - LKHTP (D) TQRGD - QRTDG
(E) MGKWT - GKMWT

Options:

1. = B3R D

2 ¢ AXRC

3. % C3RE

4. » AIRE

Question Number : 9 Question Id : 586180189 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25
There are two rows, each containing 3 numbers. Some rules are given below to be used for obtaining the resultant

number for each row separately. Apply the rules for each row from left to right and answer the question.

Rules:

1. If an even number is followed by an even number, the first is to be subtracted from the second.

1. If an odd number is followed by an odd number, both are to be added.

iil. If an odd number is followed by an even number, the even number is to be subtracted from the square of the odd
number.

iv. If an even number is followed by an odd number, the odd number is to be subtracted from the even number.
Row I: 28, 19, 12

Row II: 13, 7, 32

What is the average of the resultant numbers of the first row and the second row?

Options:
1. % 375



7 @ 405

3 % 49.0

Question Number : 9 Question Id : 586180189 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:



1. = 375

2. v 405
3. % 49.0
4 % 505

Question Number : 10 Question Id : 586180190 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

A team of four with at least two girls is to be selected from four bovs A, B, C and D and four girls E.F, Gand H
meeting the following conditions:

1. B cannot gowith H
ii. C and F must be put together.
iil. G and D cannot be together.

iv. E and G must be together.

Which of the following can be selected as a team?
Options:
1. » AADICE

? w B:ALEH

4 » D/CF;B

Question Number : 10 Question Id : 586180190 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. =« AD CGE

Question Number : 11 Question Id : 586180191 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

How many triangles are there in the following figure?

Options:



1. = 14

2
®
—_
N

3. 17

Question Number : 11 Question Id : 586180191 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Rt R o et gt B2

Options:

T. = 1
2. ® 15
3. v 17
4 = 20

Question Number : 12 Question Id : 586180192 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Five addresses are given below. Which of the two addresses are exactly same?

1. M. Parsuramiayah, G-527, Padanupulnam, Latacherry Street, Mahakumbhakam - 453 916

I~

. M. Parsuramaiyah, G-527, Padanupulnam. Latacherry Street, Mahakumbhkam - 453 916
. M. Parsuramaiyah. G-527, Padanukulnam, T atcherry Street, Mahakumbhkam - 453 916
M. Parsuramiayah. G-527, Padanukulnam, Iatcherry Street. Mahakumbhakam - 453 916

:I'—'...u

L |

. M. Parsuramaivah. G-527, Padanupulnam. Latacherry Street, Mahakumbhkam - 453 916
Options:

1. # 3and5s

Question Number : 12 Question Id : 586180192 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

a9, e fET aT €1 i & & 9 quiaRr g 87

1.M. Parsuramiayah, G-527, Padanupulnam, Latacherry Street, Mahakumbhakam - 453 916
2.M. Parsuramaiyah, G-527, Padanupulnam, Latacherry Street, Mahakumbhkam - 453 916
3.M. Parsuramaiyah, G-527, Padanukulnam, Latcherry Street, Mahakumbhkam - 453 916

4.M. Parsuramiayah, G-527, Padanukulnam, Latcherry Street, Mahakumbhakam - 453 916

5. M. Parsuramaiyah, G-527, Padanupulnam, Latacherry Street, Mahakumbhkam - 453 916
Options:

1. = 33k 5

2. v 23R5



Question Number : 13 Question Id : 586180193 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following number sequence, how many times is an even number immediately followed by an odd number?

T7836892476989362835616832695
Options:

1. = 10

b4

t.[:.
®
~1

Question Number : 13 Question Id : 586180193 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e dew w9 &, e e ve e dew, w39 3'm & R1 9 9 A 87

7836892476989362835616832689

Options:



Question Number : 14 Question Id : 586180194 Question Type: MCQ Option Shuffling : Yes

Correct Marks: 1 Wrong Marks: 0.25

In the following number sequence. how many times is an even number immediately followed by a number divisible by
3 but NOT immediately preceded by an even number?

7T8E3689247698936283561683269
Options:

1. = 6

2 %5
3. v 4

Question Number : 14 Question Id : 586180194 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e 7= &7 A, f5ee aR vw §F TEw % 8% 91E 3 ¥ 47 W g, fheg 38% &% e U

783689247698936283561683269
Options:



Question Number : 15 Question Id : 586180195 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

In a family of eight members, P is the grandson of Q. R is the wife of T and mother of S. S’s sister is the granddaughter
of V. V is the wife of Q.

If T’s brother is the son of V, how is Q related to §?
Options:

1.

Uncle

®

Grandmother

2

8

3. Grandson

b4

4« Grandfather

Question Number : 15 Question Id : 586180195 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. = ==

2_&3@'



Question Number : 16 Question Id : 586180196 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following Venn diagrams correctly represents the relationships among the following classes?

Doctors. human beings, women

Options:

Question Number : 16 Question Id : 586180196 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

Question Number : 17 Question Id : 586180197 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

< 1212 is to be divided among A, B and C such that the amounts they receive are in the ratioof A : B=3: 5 and
B:C= 7:9. How much would B receive?

Options:

1. » T252

2 % T421



Question Number : 17 Question Id : 586180197 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

I1212 W A, B 3R C & 919 30 YR a1er 31 ¢ {3 3aa! ool g oawfAar A B = 3 : 5 3R
B:C=7:9% 3ud # gl B fraelr wmfdy f&ei?

Options:
1 = T252
2. u T421
3. v T420
4. & T540

Question Number : 18 Question Id : 586180198 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Three of the following four figures are alike in some ways, and one is different. Find the odd one.

Options:




Question Number : 18 Question Id : 586180198 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

T I 7 ¥ 9= Ry Fdr afa gaa € 3t v @ 81 3T & A9 F:1

Options:




Question Number : 19 Question Id : 586180199 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the number that can replace the question mark (?) in the following series:

1215, 2323, 3431, 7, 5647
Options:
1. & 4529

? % 4659
3.« 4539

A % 4739

Question Number : 19 Question Id : 586180199 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

e 9@ H 9 Reg (?) & Ifaeig ax T Jel gl gu”-‘i:

1215, 2323, 3431, 2. 5647
Options:

1. = 4529

2 % 4659



3. » 4539

4. » 4739

Question Number : 20 Question Id : 586180200 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the number that can replace the question mark (?) in the following series:

10; 15; 26, 7, 50: 63
Options:

1. =

Lad
L

2\; 35

Question Number : 20 Question Id : 586180200 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

e sp@en 7 ye e (?) & 9farwfia &1 gea arer 'Ear 94

10, 15, 26, 7, B0, 63

Options:



4. = 41
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Section type: Online
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Sub-Section 1d: 5861808
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 586180201 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

The white cotton saree with a red border called the ‘Lal Paar Saree’ is synonymous with which state of India?
Options:
1. ® Tamil Nadu



2 % Gujarat
3 % Punjab

4. » West Bengal

Question Number : 21 Question Id : 586180201 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TS OTE [IET FEAH aATel, el ThaAlRl aTell Whg, Tr WA, HRT F @ T # 9g=9 g2

Options:

1_%?-@?4?1@

e

2_%;5
3 % I9E

Question Number : 22 Question Id : 586180202 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Name the Indian Prime Minister who launched the NREGA (later renamed as MGNREGA) scheme. The scheme is an
Indian labour law and social security measure that aims to guarantee the 'right to work'.

Options:
1. # Narendra Modi

2 Manmohan Singh



3 Atal Bihari Vajpayee

A % V P Singh

Question Number : 22 Question Id : 586180202 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

3 AR THAAA & AH TAC S8 J0T (1 H AACT & F A [FAAD) TAAT P FAT W
TE AT, HRAT S FIefet TF ANSS T 397 § FT 'FH & HAOPR H TARE & g

Options:

1?;@353%

2 o FAAES g

3. « o fagrlr S

4, =« =T

Question Number : 23 Question Id : 586180203 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Name the treaty that was signed in the year 1826 at the end of the first Anglo-Burmese War. The treaty sealed a victory
for the British forces.

Options:
1. % The Treaty of Rangoon

2 % The Assam Treaty

3 . The Treaty of Yandabo



A, % The Treaty of Purandar

Question Number : 23 Question Id : 586180203 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

WUH HES-FH g I HACT 9 1826 H FEAr&iRd WY & A7 7ae| s§ §fY 7 ffeer afeaat &
s 97 7T == &1

Options:

2.« HEH &H I

Question Number : 24 Question Id : 586180204 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the motto of the Indian Army?
Options:
1. = Satyameva Javate

? « Service Before Self
3. % Vande Mataram

4 % XKaro Ya Maro

Question Number : 24 Question Id : 586180204 Question Type: MCQ Option Shuffling : Yes



Correct Marks: 1 Wrong Marks: 0.25

HATT VAT T HESA-TT FT 872

Options:

1. « ¥OAT F4

2. o T W UES BT

3. x Feg ATRA

4, = A A

Question Number : 25 Question Id : 586180205 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

In the 1980s, the Government of India set up a commission called the Sarkaria Commission. What was the scope of this
commission?

Options:

1. & Caste-based reservation

2 % Minority rights

3.« Center-State relations

4 % Tax reforms

Question Number : 25 Question Id : 586180205 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1980 & & H ANT TIFR = HIFAT HEAWET & dTH § TF HOET Tisd har oT| 7 HT4ET &7
FTIET FIT oT?

Options:



1. » SHTS-3Tenfyg 3ReTor

2« FoUUEmH F SR

Question Number : 26 Question Id : 586180206 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

The Indian hockey team. captained by Dhyan Chand, won a gold medal at the 1936 Berlin Olympics. Whom did India
defeat in the finals to win this medal?

Options:

1. & France

? % Netherlands

3 Germany

4. » Japan

Question Number : 26 Question Id : 586180206 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

CUTHATE, T Fodar H JGT glenr &7 o 1936 & o Hateaes H Ta =0T 9 Sar 9T #d o
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Options:

1. = W




Question Number : 27 Question Id : 586180207 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

“Vilasini Natyam’ is a traditional dance form that originated in:
Options:
1. # Kerala

? « Andhra Pradesh
3. # Karnataka

4 % Maharashtra

Question Number : 27 Question Id : 586180207 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

el Arcaw’ °F IR ca ¢, wdH seafed e & g
Options:

1. = 3

2. v ¥ HEA



Question Number : 28 Question Id : 586180208 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Which state in India is famous for the light-weight, colourfully designed Murshidabad Silk sarees?
Options:
1. « WestBengal

? % Uttarakhand

3. # Karnataka

Telangana

<,

:

Question Number : 28 Question Id : 586180208 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IR H Fi 7 T, goor, Tl Bamsal arenr gRiamg WA @fsar & e sfag 82
Options:

1. » 999w T9a



Question Number : 29 Question Id : 586180209 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The theory of ‘plate tectonics’ is associated with;

Options:

1. » Cyclones
? % Flood

3 x Drought

4.  Earthquake

Question Number : 29 Question Id : 586180209 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

e Ry #1 faE, BT ¥ g

Options:

1. = =ehard
2. = ¥

3. HH

4. v S

Question Number : 30 Question Id : 586180210 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The government of Madhya Pradesh conferred with the ‘Tansen Samman’ for the year 2018.
Options:
1. # Dalchand Sharma

? % Ulhas Kashalkar

3 Manju Mehta

4. » Ajoy Chakrabarty

Question Number : 30 Question Id : 586180210 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

T 929l TIFR o 39 2018 H O=aT §FAT & T HFEATAT T

Options:

1. » SToEeE oHr

2w 3ogIH FHRMeERT

3.&3:';?!\%

A« T TFEaEAr

Question Number : 31 Question Id : 586180211 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which one of the following revolutionary organisations was formed in the US (San Francisco) in 1913 by migrant
Indians as a part of Indian freedom movement?

Options:
1. » Indian Independence League



? % Abhinav Bharat

3 % Azad Hind Fauj

4. » Ghadar Party

Question Number : 31 Question Id : 586180211 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AN (FF wIfATE) & 1913 & 9ol sREt ZaRT 9RAT TTa9aT Al & daed e # | e
FITIFRT HITSA &7 TS TehaT T1AT?
Options:

| . oss s o

2 « HEAT "@Xa

3. x 3=E B wia

Question Number : 32 Question Id : 586180212 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who appoints the advocate general of the state in India?
Options:
1. & Chief Minister

? « Governor



3 Chief Justice of High Court

4 % Home Minister of State

Question Number : 32 Question Id : 586180212 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

AR H T & AgHeaear & Hia @gea wtar g7

Options:

2_@4’11@?13?

3 i J9 FUEEH % HET SR

4. = T & TEHA

Question Number : 33 Question Id : 586180213 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Which articles are present in Part I of the Constitution of India?
Options:
1. « Articles1to4

? % Articleslto6

3. % Articleslto8



4 % Articles 1to 10

Question Number : 33 Question Id : 586180213 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ARAT HEUT F #4097 1 # FiF =0 87
Options:

1 o TS 184

2 u HT=0C 1 ¥ 6

3 x HTOE 1W8

4 « FF=oE 1810

Question Number : 34 Question Id : 586180214 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

As of May 2019, Australia's 417/6 against in Perth in 2015 remains the highest total ever in an ICC Cricket
World Cup match.

Options:
1. » Bangladesh

2 . Afghanistan

3. % Ireland

A % Zimbabwe

Question Number : 34 Question Id : 586180214 Question Type: MCQ Option Shuffling : Yes



Correct Marks: 1 Wrong Marks: 0.25

AS 2019 % & IR, 2015 F 9 H F % FAEEoET &7 417/6 TR, F=dEr Fre
ﬁaamﬂaﬁmﬁmuﬁamgm%[

Options:

1. » SIS

5

2 o HAEIAE

Question Number : 35 Question Id : 586180215 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Which one of the following traditional dances that originated in eastern India enacts episodes from epics such as
Ramavana and Mahabharata?

Options:
1. «# Chhau

? % Kodiattam

3. % Garba

4. Ottan Thullal

8

Question Number : 35 Question Id : 586180215 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

q&t aRd H 379 forre F @ fFE IRARF od # TAE0T AR AgRE S Al T HTeE
Fearsit # HiET R Far §2

Options:




Hi<ed oo

o

Question Number : 36 Question Id : 586180216 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Dispur is the capital of
Options:
1. » Chhattisgarh

? « Assam

3. % Arunachal Pradesh

A % Jharkhand

Question Number : 36 Question Id : 586180216 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

femaT $r TS T

]

Options:

1. » TedEIS



Question Number : 37 Question Id : 586180217 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Which committee appointed by the Government of India recommended the formation of Lead Banks in 19697
Options:

1. % Pranab Committee
? % Narasimhan Committee

3.« Nariman Committee

4. » Bhagawathi Committee

Question Number : 37 Question Id : 586180217 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT THR a0 ged 5w afafa & 1969 & &5 %0 % o &! geifad har?
Options:

1. = 9UIg @A

2 x THFES HAT



3. AHT AT

Question Number : 38 Question Id : 586180218 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The device needed to convert alternating current into direct current is:
Options:
1. + Rectifier

2 w Capacitor

3. # Calorimeter

4 % Rheostat

Question Number : 38 Question Id : 586180218 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

eaTadr 9T & feve anr 7 ofEfEe s F v s 3T €

Options:

1_4&@



Question Number : 39 Question Id : 586180219 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

When did Indian Space Research Organization (ISRO) successfully launch Mars Orbiter Mission (MOM)?
Options:

1. + November 2013

? % November 2011

# November 2012
3.

4 % November 2014

Question Number : 39 Question Id : 586180219 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HRAT HANET FFUTs Waa (FA) o AW faey e (TAHTH) #1 F7 Fhadrg@es &= Har?

Options:

1 » ==&t 2013

2w I 2011

3. x 98T 2012

4. = 98T 2014

Question Number : 40 Question Id : 586180220 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Where is the headquarters of INTERPOL located?
Options:
1. & Ottawa, Canada

?  Lyon, France
3 » Dublin, Ireland

4. » Geneva, Switzerland

Question Number : 40 Question Id : 586180220 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ST FT FEATET FEl 2Ud 87
Options:

1. « 3IEET, FamEr

2 O, wE

3. w SaioH, 3RS

4.« e, Feeeets

Arithmetic Ability
Group Number : 3
Group Id: 5861804
Group Maximum Duration : 0
Group Minimum Duration : 0

Show Attended Group? : No



Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Arithmetic Ability
Section Id : 5861808
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5861809
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 586180221 Question Type: MCQ Option Shuffling : Yes

Correct Marks: 1 Wrong Marks: 0.25

If12+2%2+3%+ +10%+ 112+ 12> =650, then 5+ 20+ 45+ + 500+ 605+ 720 is equal to:

Options:
1. & 2500

2 % 5000

%)
B
()

-1
L ]
L]

325

>
§
|
|

Question Number : 41 Question Id : 586180221 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

ofg 12422432+ +1024+ 1124122 =650, ! 5+ 20+ 45+ +500+605+720 = &

SITET &

Options:



1. = 2500

2 % 5000
3 & 2750
4. ¢ 3250

Question Number : 42 Question Id : 586180222 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What will be value of bif a(a+b+¢c)2=1792; b(a+ b+ )2 =1536; c(a+b+c)? =768?
Options:

1.+ 6

4 =% 16

Question Number : 42 Question Id : 586180222 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Ifg a(a+b+0)2=1792: bla+b+ )2 =1536:cla+b+c)2 =768 @ b & AF FIT N2
Options:

1. « 6



Question Number : 43 Question Id : 586180223 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Solve the following:

4.53+1.046 ~0.49 =°
Options:

1. & 6.120

2.« 6.081

3 = 5081

5.051

i
%

Question Number : 43 Question Id : 586180223 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

=@ =+ g 3

4,53+ 1.046 ~049 =2
Options:

1. = 6.120



2. ¢ 6.081
3. % 5.081

4. = 5.051

Question Number : 44 Question Id : 586180224 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

. 7 . A : a i e : 7
On being asked what - of a certain fraction is, a student made the mistake of dividing the fraction by = and so got an

i E i i
answer which exceeded the correct answer by =r The fraction is:

Options:

1. =

2
8
15

19

3 % 13

Question Number : 44 Question Id : 586180224 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

w@mﬁw%ﬁrﬁﬁﬁaﬁﬁ:ﬁmgm?ﬁmwmﬁmﬁ@maﬁ%ﬁmﬁaw
feam s SRUTATERT 3@ St 3eeR fRer At e ew ¥ H#fUw am) few g

Options:

i

m |



15

A w 13
E
R 13
2
4. v 5

Question Number : 45 Question Id : 586180225 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

s . 2 . . . e
The product of two fractions is = and their quotient is - The lowest fraction is:

Options:

1.+ 9

2. %

Ut |

4. =

Question Number : 45 Question Id : 586180225 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

: 7 27
g1 ffeei &7 DS  HR IR HTHA - §| T et g1
Options:

L
L. 9



N
g}
|

| &

Question Number : 46 Question Id : 586180226 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Five bells ring together at intervals of 4, 5, 8. 9 and 10 seconds. All the bells begin ringing simultaneously. They will
again ring simultaneously after:

Options:

1. # 9 minutes

? % 8 minutes

3.« 6 minutes

4 = 4 minutes

Question Number : 46 Question Id : 586180226 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

5 gfea 4, 5, 8, 9 3N 10 FFs & AU W TF WY IocT g1 Fef €A v Fy a1 % & et
T 3T ST ¥ UF T ¥ g9

Options:

1. « 9 =T =g



2 x 8 fF=Ee g

3 » 6 f@Fae g

4. » 4 @ae g

Question Number : 47 Question Id : 586180227 Question Type: MCQ Option Shuffling : Yes

Correct Marks: 1 Wrong Marks: 0.25

In an examination, the number of those who passed and the number of those who failed was in the ratio 23 : 4. If eleven
more students had appeared for the exam and the number of failure was 4 less than earlier, the ratio of passers to failures
would become 22 : 3. The total number of students who appeared initially in the examination was:

Options:
1. v 189

2 % 180

3. % 162

A % 135

Question Number : 47 Question Id : 586180227 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

TF BT H 3ecivl @ aTel dhr HEAT A AT g aTel B HET 23 ¢ 4 % deara A ofn afy
ﬁw%ﬁ?mﬁmmﬂgﬂaﬁﬂwmﬁmﬁm%ﬁﬁgmmﬁ4mﬁ o,
ar 3T AT TAOT F AT 22 ¢ 3 g AT T{ET A F H 3uiewd g el oI i HEdr A
H:

Options:

1. v 189




2 % 180

3. = 162

4. = 135

Question Number : 48 Question Id : 586180228 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

If 50% of A is 75% of B and B is x% of A, then the value of x (correct to the nearest integer) is:

Options:

1. =

n
—_

3\/ 67

Question Number : 48 Question Id : 586180228 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

ofe A &7 50% B & 75% & 3R B, A & 1% &, & x & A (sheam quiis #) &

Options:

T. » B



3. v 67

Question Number : 49 Question Id : 586180229 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

A number is increased by 25% and then decreased by 25%. Further, it was increased by 20% and then decreased by
20%. What is the net increase/decrease percent in the number?

Options:

1. = 10% increase
? « 10% decrease
3. #& 20% increase

4 % 20% decrease

Question Number : 49 Question Id : 586180229 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

forelr T # dger 25% #r fE St BT 25% Hr F Fr ) I sEE B @ 20% # afe g Ak
5T 20% #r Fr & 731 FEA F E I/ FA Fora AT F02

Options:

1 x 10% I

2 o 10% =

3« 20% =&



4. % 20% A

Question Number : 50 Question Id : 586180230 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

The average age of 40 students of a class is 16 years. After admission of 10 new students to the class. the average
becomes 15 years. The average of five of the new students is 9 years. What is the average age (in years) of the
remaining five new students?

Options:
1.« 13

Question Number : 50 Question Id : 586180230 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U& AT & 40 TTEI HT AT Y 16 I §| FAW H 10 AC OE & AT F G, A 15 WA g AA
g1 FT 9T OIS T A F AT 9 AW §| AW 9= AC o H dEa 3y (39 F) 32

Options:

1. « 13
2 u 15
3. = 10



Question Number : 51 Question Id : 586180231 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25
A loss of 20% is incurred when three articles are sold for ¥ 1 each. To gain 20%, how many articles must be sold for ¥ 1?

Options:

1. = 1

n

2. ®

e
<
I

Question Number : 51 Question Id : 586180231 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

s e FEgat  9fY FEG 1 F I AT § A 20% F JHAA 2T gl 20% FOATH e A F
fow 31 & fraelr Iqu 9= S =nfge?

Options:

4. v 2

Question Number : 52 Question Id : 586180232 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A company offers three types of successive discounts to a customer:
L; 25% and 5%
II. 20% and 10%
IOI. 15% and 15%

Which offer is the best for the customer?
Options:

1. w I
2.v 1

3.# II

4. » Alloffers are equal

Question Number : 52 Question Id : 586180232 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U FUAT TS F Tk & 5 Tk I TF T Be Fald HLdr 3

l. 25% 3T 5%
1. 20% 31T 10%
. 15% T 15%

TAEF F oI FIE J=oT HTHT FiT FT 2Em?

Options:



4« T A TFH A g

Question Number : 53 Question Id : 586180233 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If a discount of 25% on the marked price of a shirt saves a man ¥ 350, then how much did he pay (in %) for the shirt?
Options:
1. «+ 1050

1750

-2
#®

i

3. % 1400

4 = 700

Question Number : 53 Question Id : 586180233 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ife o€ # Rfeag FEa W 25% &7 O S & U HEHT & T 350 H §9d gidr g, af 36 A€ F
fore et Frmg & X F) s B

Options:
1. « 1050
5w 1750
3 % 1400
4 % 700

Question Number : 54 Question Id : 586180234 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

A sum of ¥ 20,000 is lent partly at 8% and the remaining is lent at 10% per annum. If the yearly interest on the average
is 9.5% then the sum (in I) which is lent at 824 is:

Options:
1. = 20,000

? w 15,000

3 % 10.000

A & 5000

Question Number : 54 Question Id : 586180234 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

720,000 &$r UfFr & v BEE F 8% u¥ 3T W F 10% T & =9 &7 § 33U feur =mar # o
T AT 4T &T 9.5% & ar 8% T T UY YN & E Ry (F H) fFraer getr

Options:

1. % 20,000
5 % 15,000
3. % 10,000
4. « 5000

Question Number : 55 Question Id : 586180235 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Karuna has the option of investing in the following three schemes. If she wants to invest an amount of ¥ P, then which
scheme will be most beneficial?

A scheme with a rate of interest that is:

I. 28% per annum compounded quarterly for one year.
II. 28% per annum compounded half yearly for one year.
III. 28% per annum compounded annually for one year.

Options:
1.« 1

3. % IO

4. » Allschemes are equally beneficial

Question Number : 55 Question Id : 586180235 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FTOT & IH Teafaiag d At & @3 &3 &1 BFeg &1 ofE 38, TP &1 @y Fw=r aedr 2,
ar 3% o =iF O O ey AR wEgAg gefe

I = B sur= ot ik ot F Ty e

. 28% Wrem=T =4, TF T¥ & AT, & e W Twgfe &9 & foE|
Il. 28% W= &0, T ¥ & T, & oA W 9%gfs & ¥ vE]
lIl. 28% WM &4, T& A% & o0, & a9 T%ge 9 & o]

Options:

1. ¢ |



4« T DFAT FAS T F ATEFN 8

Question Number : 56 Question Id : 586180236 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

The area of a square and the area of a rectangle are equal. The length of the rectangle is greater than the length of any
side of the square by 8 cm and the breadth is less by 4 cm. The perimeter (in cm) of the rectangle is:

Options:
1.« 40

2 = 30

Question Number : 56 Question Id : 586180236 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Te T AT 3T F AT T gl HTS B FArs T3 B A off oo Fr TS F 8 em HUF ¥
3T =5 4 cm FH B 3mET B 9T (cm F) 2R

Options:

T. « 40
2. = 30
3. = 25



Question Number : 57 Question Id : 586180237 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Arjun can do a piece of work in 30 days. Bharati can do the same work in 40 days. If they worked together for 10 days
then how much work would be left?

Options:
5

1. v 12

? i |

Question Number : 57 Question Id : 586180237 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3= TR @ # 30 AT F U X FHT g1 A 38 FH H 40 B F F wwh g1 3 7 @A
T 10 BT 7% 17 Far § ar 39 # Baar #1357 a6hr | Seem?

Options:

1. v 12

11

Question Number : 58 Question Id : 586180238 Question Type: MCQ Option Shuffling : Yes



Correct Marks: 1 Wrong Marks: 0.25
If 3 men or 4 women can plough a field in 86 days, how long will 14 men and 10 women take to plough it?

Options:
1. » 12days

2 x 43days

3 x 060days

4], = 86days

Question Number : 58 Question Id : 586180238 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

IfE 3 Y 71 4 AfFeTT 86 RF F vH @a Fr FaAF W FTHEAT €, o 14 7w 3R 10 #fgene swA
fraaT gaT WE
Options:

1. v 12 R

2.« 43 f

3. = 60 fe=

4. = 86 fea

Question Number : 59 Question Id : 586180239 Question Type: MCQ Option Shuffling : Yes

Correct Marks: 1 Wrong Marks: 0.25

A train passes two bridges of length 400 m and 160 m in 110 seconds and 60 seconds, respectively. The length of the
train is:

Options:



1. « 128m

? % 100m

3. % 120m

A % 150m

Question Number : 59 Question Id : 586180239 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T ¢ 110 HFs 3R 60 FFs H FHM 400 m A 160 m F ¥ A FT IR T AT g1 & H A5 &

Options:

1. ¢ 128 m
2 % 100 m
3. % 120 m
4. % 150 m

Question Number : 60 Question Id : 586180240 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25



Study the following table and answer the question that follows.

Day 2nd Ist AC | ACII | AC lstClass
Class Class | III Tier | (150 seats)
Non-AC | Non- | Tier | (250
(900 AC {500 | seats)
seats) (500 | seats)
seats)
Monday 850 460 480 | 240 145
Tuesday 840 400 450 | 230 120
Wednesday | 830 390 480 | 220 |130
Thursday 790 480 490 | 250 125
Friday 840 470 500 |210 130

If the data related to the vacant seats for AC Ist Class is represented by a pie-chart, then the central angle of the sector
representing vacant seats for AC Ist class for Thursday is:

Options:
1.« 90°

2 % 270°

3. % 180°

&

4. 45°

&

Question Number : 60 Question Id : 586180240 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



o afayer & 3R 9T A T 717 137 &7 337 &

ffr | Rl ofr | gum Soft W& ey | T guH
AT THr AT TEH Tt THT Aofr
(900 #rd) | (500 ®) (500 #&) | (250 (150 #e)
)
HiHa | 850 460 480 240 145
Tl | 840 400 450 230 120
TUar | 830 390 480 220 130
TFEaX | 790 480 490 250 125
eHa | 840 470 500 210 130

Ifg guw Ao o == % v Rem d@et ¥ gefie S @ O-ene ganr gt S g, & eeR &
fee7 gas AT oY T F fw g Ot 1 oA = e &7 & e For (S vEre) 2R

Options:

1. » 90°
2 = 270°
3. % 180°
4 = 45°

General English
Group Number : 4
Group Id: 5861805
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20

IsthisGroup for Examiner?: No



Revisit allowed for group Instructions? : Yes

Maximum Instruction Time: 0
Minimum Instruction Time: 0
General English
Section Id : 5861809
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 16
Number of Questionsto be attempted: 16
Section Marks: 20
Sub-Section Number: 1
Sub-Section I1d: 58618010
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 586180241 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

From the options given choose the correct meaning of the underlined phrase.

He has been trying to shake off his cold.
Options:
1. « Togetridof

2 w To passoff

3. % To announce

To corrode

®

<,

Question Number : 61 Question Id : 586180241 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

From the options given choose the correct meaning of the underlined phrase.

He has been trying to shake off his cold.

Options:



1. « Togetridof

2  Topassoff

3. % To announce

4. % Tocorrode

Question Number : 62 Question Id : 586180242 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

From the options given choose the correct meaning of the underlined idiom.

The crux of the matter is the prevention of a flood from reoccurring.
Options:
1. » Unimportant point

2 Critical point

3 Interesting story

/. » Leastinteresting point

Question Number : 62 Question Id : 586180242 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

From the options given choose the correct meaning of the underlined idiom.

The crux of the matter is the prevention of a flood from reoccurring.

Options:



1. & Unimportant point

2  Critical point

3. Interesting story

4. » Leastinteresting point

Question Number : 63 Question Id : 586180243 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

From the options given choose the correct meaning of the underlined idiom.

When vou go through the novel, don’t forget to read between the lines.

Options:
1. » Toread each and every word

2 » Totry tounderstand the hidden meaning

3« Totry not to make an error

4. » Toskip pages and read fast

Question Number : 63 Question Id : 586180243 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

From the options given choose the correct meaning of the underlined idiom.

When you go through the novel, don’t forget to read between the lines.

Options:



1. «» Toread each and every word

2  Totry tounderstand the hidden meaning

3. % Totry not to make an error

4. » Toskip pages and read fast

Question Number : 64 Question Id : 586180244 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with the correct adjective form of the word given in the bracket.

What an (astonish) news I heard this morning!
Options:

1. # astonish

2 . astonishing

3. # astonished

4. % astonishment

Question Number : 64 Question Id : 586180244 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with the correct adjective form of the word given in the bracket.

What an (astonish) news I heard this morning!

Options:



1. % astonish

2  astonishing

3. % astonished

4. % astonishment

Question Number : 65 Question Id : 586180245 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Fill in the blank with the most appropriate preposition.

Every vear on 1% May, workers India join others around the world to mark May Day. also called Labour Day or
International Workers' Dayv.

Options:

1. & into

? % on

3. % at

4. v in

Question Number : 65 Question Id : 586180245 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with the most appropriate preposition.

Every year on 1% May, workers India join others around the world to mark May Day. also called Labour Day or
International Workers' Day.

Options:



1. = into

Question Number : 66 Question Id : 586180246 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with the most appropriate option.

If vou go to Kashmir, you have to go to Dal Lake and try the local food this area.
Options:

1. + around

? % Dbesides

3. # between

4 = for

Question Number : 66 Question Id : 586180246 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with the most appropriate option.

If yvou go to Kashmir, you have to go to Dal Lake and try the local food this area.

Options:



1. « around

2.  u Dbesides

3. % between

4 = for

Question Number : 67 Question Id : 586180247 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Fill in the blanks with the most appropriate option.

With 23 carriages for up to 88 guests, including two dining cars, two bars and lounge, Mabharajas' Express
has plenty of room to stretch out and relax.

Options:
1. « a the

2. % 4a.a

3 x thea

4 = the. the

Question Number : 67 Question Id : 586180247 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Fill in the blanks with the most appropriate option.

With 23 carriages for up to 88 guests, including two dining cars, two bars and lounge, Mabharajas' Express
has plenty of room to stretch out and relax.

Options:



1. «» athe

3. = the, a

4. = the the

Question Number : 68 Question Id : 586180248 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that can be used as a one-word substitute for the given group of words.

A person who lives by himself
Options:
1. & Orator

? « Recluse

3 = Martyr

4 = Stoic

Question Number : 68 Question Id : 586180248 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that can be used as a one-word substitute for the given group of words.

A person who lives by himself

Options:



1. = Orator

7.  « Recluse

3. = Martyr

4. % Stoic

Question Number : 69 Question Id : 586180249 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that can be used as a one-word substitute for the given group of words.

One who believes in fate
Options:

1. & Atheist

? % Veteran

3. « Fatalist

4 = Amateur

Question Number : 69 Question Id : 586180249 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that can be used as a one-word substitute for the given group of words.

One who believes in fate
Options:



1. =% Atheist

2  w Veteran

3. « Fatalist

4. % Amateur

Question Number : 70 Question Id : 586180250 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

From the given options choose the correct collective noun of the underlined word:

A of bullets.
Options:

1. = Qquiver

? % brood

3 s posse

4],  Vvolley

Question Number : 70 Question Id : 586180250 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

From the given options choose the correct collective noun of the underlined word:

A of bullets.

Options:



1. = quiver

2. % brood

3w posse

4. » Vvolley

Question Number : 71 Question Id : 586180251 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

From the given options choose the correct collective noun of the underlined word:

A of ladies.
Options:

1. » bevy

? % band

3. w fleet

4. » amy

Question Number : 71 Question Id : 586180251 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

From the given options choose the correct collective noun of the underlined word:

A of ladies.

Options:



1_ v bevy

2. % band
3w fleet
4. x amy

Question Number : 72 Question Id : 586180252 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Fill in the blank with the most appropriate option.

I still remember vividly that even during the night when you could not see anything the window, I would still
keep on peeping out the window.

Options:
1. « through

? % at

3. % in

4 = Dbeside

Question Number : 72 Question Id : 586180252 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25
Fill in the blank with the most appropriate option.

I still remember vividly that even during the night when you could not see anything the window, I would still
keep on peeping out the window.

Options:



1. «» through

4. % beside

Question Number : 73 Question Id : 586180253 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the underlined word.

Alir, water and wind are all signs of the bounty of nature.
Options:
1. » Salary

2 Penalty

3 v Largess

4. » Takeaways

Question Number : 73 Question Id : 586180253 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the underlined word.

Alr, water and wind are all signs of the bounty of nature.

Options:



1. = Salary

2  Penalty

3. ¢ Largess

4. « Takeaways

Question Number : 74 Question Id : 586180254 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with the correct form of the tense:

The accused the verdict of the jury with anxiety.
Options:

1. & was awaits

? « awaited

3. w will awaits

A, % Will been awaiting

Question Number : 74 Question Id : 586180254 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with the correct form of the tense:

The accused the verdict of the jury with anxiety.

Options:



1. = was awaits

7« awaited

3w will awaits

4. % Wil been awaiting

Question Number : 75 Question Id : 586180255 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the underlined word.

The Indian government is trving to mitigate the sufferings of poor people.
Options:
1. « Alleviate

7 x Aggravate

3. % Increase

4 % Enhance

Question Number : 75 Question Id : 586180255 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the underlined word.

The Indian government is trving to mitigate the sufferings of poor people.

Options:



1. « Alleviate

2 % Aggravate

3. % Increase

4. % Enhance

Sub-Section Number: 2
Sub-Section 1d: 58618011
Question Shuffling Allowed : Yes

Question Id : 586180256 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (76 to 80)

Question Label : Comprehension

Read the following passage and answer the below
questions.

Naval architects never claim that a ship is unsinkable. but
the sinking of the passenger-and-car ferry Estonia in the
Baltic surely should have never have happened. It was well
designed and carefully maintamed. It carried the proper
number of lifeboats. It had been thoroughly inspected the
day of its fatal voyage. Yet hours later. the Estonia rolled
over and sank i a cold. stormy night. It went down so
quickly that most of those on board. caught in their dark,
flooding cabins. had no chance to save themselves: Of
those who managed to scramble overboard, only 139
survived. The rest died of hypothermia before the rescuers
could pluck them from the cold sea. The final death toll
amounted to 912 souls. However, there were an unpleasant
number of questions about why the Estonia sank and why
SO many survivors were men in the prime of life. while most
of the dead were women. children and the elderly.

Sub questions



Question Number : 76 Question Id : 586180257 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

It was said that the passenger-and-car ferry Estonia in
the Baltic should have never sunk.

Among the following options which reason has not
been mentioned in the passage?

Options:
1. = Itwas well designed.

? % Itwas carefully maintained.

3 & Ithad been thoroughly inspected.

4. « Crew was well trained.

Question Number : 77 Question Id : 586180258 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Why did most of the people not get the chance to
save themselves?
Options:

1. % They were not aware of the situation.

? . They were caught in their cabins.

3. % There were insufficient life boats.

4. » They got frightened and lost confidence.

Question Number : 78 Question Id : 586180259 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the meaning of hypothermia?



Options:

1. % Fear of water

? . Unusual fall of body temperature

3. % Loss of consciousness

4. » Blood poisoning

Question Number : 79 Question Id : 586180260 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

From the options below choose the one that means
the same as:

scramble
Options:

1. = Sailed to be free

2 o Struggled to be safe

3. % Traveled to be safe

4. » Linedup to be safe

Question Number : 80 Question Id : 586180261 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

There were number of unpleasant questions that
persisted.

Which among the options was not the one mentioned
in the paragraph?

Options:



1. » Why Estonia sank?

2 % Why most of the people who survived were men?

Why most of the people who died were women. old
3. # and children?

4. » Why Estonia was not carefully maintained?

Question Id : 586180256 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (76 to 80)

Question Label : Comprehension

Read the following passage and answer the below
questions.

Naval architects never claim that a ship is unsinkable. but
the sinking of the passenger-and-car ferry Estonia in the
Baltic surely should have never have happened. It was well
designed and carefully maintaimed. It carried the proper
number of lifeboats. It had been thoroughly inspected the
day of its fatal voyage. Yet hours later. the Estonia rolled
over and sank in a cold. stormy night. It went down so
quickly that most of those on board, caught in their dark,
flooding cabins. had no chance to save themselves: Of
those who managed to scramble overboard, only 139
survived. The rest died of hypothermia before the rescuers
could pluck them from the cold sea. The final death toll
amounted to 912 souls. However, there were an unpleasant
number of questions about why the Estonia sank and why
SO many survivors were men in the prime of life, while most
of the dead were women. children and the elderly.

Sub questions

Question Number : 76 Question Id : 586180257 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25



It was said that the passenger-and-car ferry Estonia in
the Baltic should have never sunk.

Among the following options which reason has not
been mentioned in the passage?

Options:

1. & Itwas well designed.

2  Itwas carefully maintained.

3. It had been thoroughly inspected.

4. v Crew was well trained.

Question Number : 77 Question Id : 586180258 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Why did most of the people not get the chance to
save themselves?
Options:

1. & They were not aware of the situation.

2  They were caught in their cabins.

3. % There were insufficient life boats.

/. « They got frightened and lost confidence.

Question Number : 78 Question Id : 586180259 Question Type: MCQ Option Shuffling : Yes



Correct Marks: 1 Wrong Marks: 0.25
What is the meaning of hypothermia?

Options:

1. % Fear of water

2 Unusual fall of body temperature

3. % Loss of consciousness

/. % Blood poisoning

Question Number : 79 Question Id : 586180260 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

From the options below choose the one that means
the same as:

scramble
Options:

1. = Sailed to be free

2 » Struggled to be safe

3. w Traveled to be safe

/. « Linedup to be safe

Question Number : 80 Question Id : 586180261 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25



There were number of unpleasant questions that
persisted.

Which among the options was not the one mentioned
in the paragraph?
Options:

1. % Why Estonia sank?

2 % Why most of the people who survived were men?

Why most of the people who died were women, old
3. % and children?

4.  Why Estonia was not carefully maintained?

General Hindi

Group Number : 5
Group Id : 5861806
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Hindi

Section Id : 58618010
Section Number : 1

Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 16

Number of Questionsto be attempted: 16



Section Marks: 20

Sub-Section Number: 1
Sub-Section 1d: 58618012
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 586180262 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘NI ofeg T THIATET e A4T &

Options:

Question Number : 81 Question Id : 586180262 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘NS ofeg T THIATET o FA4T &

Options:



Question Number : 82 Question Id : 586180263 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

‘FEAT g F T S &

Options:
1 L %‘3

CAL I

%

5

4Jﬁ?ﬁ'

Question Number : 82 Question Id : 586180263 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

‘FEAT g FH T S &

Options:
1. = a9
2. % S

Question Number : 83 Question Id : 586180264 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FAeA AE F A AT E:

Options:



Question Number : 83 Question Id : 586180264 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FATA AT FT FAIH U B

Options:

1. » T8
2 % 9YIolHh
3. = 39¢d

Question Number : 84 Question Id : 586180265 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘AT e & Far gO-=ag #r 27

Options:

1. » & + AT



4, v §+ AW

Question Number : 84 Question Id : 586180265 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘TeATa e &7 FeT HO-TF=ae & 27

Options:
1. = &I + &A@
2. » WL+
3, & BT
4, v T+ AQ

Question Number : 85 Question Id : 586180266 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

TUTET oeg H HIF-HT ITHT 0 g2
Options:

1.‘:!T

N T

2 & T



Question Number : 85 Question Id : 586180266 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TUfed g H PIF-HT FTHT o197 g7
Options:
1. » ¥

2.« T

3. v X
4. = TH

Question Number : 86 Question Id : 586180267 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

M= 9reg H FiF 7 TEIT &

Options:



4&@

Question Number : 86 Question Id : 586180267 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

=T’ e H Fid °@ §AH &

Options:

Question Number : 87 Question Id : 586180268 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

T F AT AGT H GAFT HAT AT §, O 3 FT FEd 87
Options:

1. » =9

Question Number : 87 Question Id : 586180268 Question Type: MCQ Option Shuffling : Yes



Correct Marks: 1 Wrong Marks: 0.25
oG P AT AGT H Fqad haAT ST §, O 38 FT T &7

Options:

1, » Uead

Question Number : 88 Question Id : 586180269 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fdvor o ¥R F B 87

Options:

1. v I

Question Number : 88 Question Id : 586180269 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

v fFas 9 & g 87

Options:



2. w ¥Hd
3. % 9=
4, = d=A

Question Number : 89 Question Id : 586180270 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘T TIE | BY FAHEAT o o7 AT FREF 82§
Options:

2 TarT FH

3 & HUCHH FH

A, » HOEIOT FEH

Question Number : 89 Question Id : 586180270 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

‘T A | A AT 8 U7 AT FRE HE g
Options:

1. = TFEeYT &HH




3« HIRH FFH

Question Number : 90 Question Id : 586180271 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

A T TFT Fgar=y IFT g7

Options:

1 = LT ZANT o e T

2 v eI e TI&aT &
9 gs%mmﬁmgm

4 » FSTRE A FE Goreh

Question Number : 90 Question Id : 586180271 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

A T TFT Fgar=y IFT g7

Options:

1« L EaRT T 98 TTg

5 o T TEEH e g



5 . @Wmﬁmgm

Question Number : 91 Question Id : 586180272 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IFT F IL T Fr gﬁ'@l
Options:

i BT F IFFearor glet I TH 2
7 % PT?SEH#H@W@?%MW%I
3w TdF F A0 B F TEE B

Ay T F AT B H SR E

Question Number : 91 Question Id : 586180272 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IFT F U= T Fr gﬁvl
Options:

B FT el gl T 3R &

1. ¢

I BISF FT HFeAI0T gat T TR0 g



3 u W HT Hedlv Bl & HEE ¢

4w TIE F IO G T AR g

Question Number : 92 Question Id : 586180273 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

‘FIferear FT IS U= T

Options:

4l\;f3']é-7:rﬂ'

Question Number : 92 Question Id : 586180273 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

‘FIferear FT IS U= T

Options:



4, v 3R

Question Number : 93 Question Id : 586180274 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘T T TATTATET A Bl T AGT 87

Options:

4'\,/(_'[@?1-

Question Number : 93 Question Id : 586180274 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘T FT TATTATET A Pl T AGr 87

1, =
2. « =&
3, « ofth
4. v T

Question Number : 94 Question Id : 586180275 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25
Togfca e forw g &1 A e 27

Options:

1 « T

o

Z.fﬁ%

Question Number : 94 Question Id : 586180275 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tgfca g fohw g &1 B oeg 27

Options:

3« =T

Question Number : 95 Question Id : 586180276 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘HITATT oM T [FaTH U &

Options:



Question Number : 95 Question Id : 586180276 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘HIFATT oM & [FaTH U &

Options:
1. = 3T
3_ v mﬁ

Sub-Section Number: 2
Sub-Section 1d: 58618013
Question Shuffling Allowed : Yes

Question Id : 586180277 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (96 to 100)

(Question Label : Comprehension



Ao @a s=ger & 9et 30+ TEr 3ca? |

“Myfas Fer H oo FHg H N Ay IREaa
A
wmama@aﬁmmmlﬁm
SITST ST 39T &< 17| 1900 & S BATErRT
Fed H TcHH <l &1 JAT §ar AT SHF
A H Tpide 30U, SEATANS, HITATH
TUT ST FT THAE UT| IRUTHAT: T FT A
SUSR off FEpdi=sa g aT| 1936 &+ a1
Ferfeamer faRemT & Al anr F AHEHT
FT eI ofomAa: aTHIT oreg, HTaTeeh 2lsC,
HETat- SR aal @S S & 37 g4 w9
HTSAET & &1 UTsTNE oreg Rer & a7 et
HAF HRTET ASIHIAT T FHART 2Ace-THE
HHE giaT Forr )

Sub questions

Question Number : 96 Question Id : 586180278 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

aﬂgﬁmmﬁﬁé’rmﬁwm@
Options:

1. « T&&r smor & g=eT Fa7 & 7
9w T e & warEar R g o

9 & F UeE-TEE # IS F Uqeq A A

A = f&&r T Fepa-HEa g T TS

Question Number : 97 Question Id : 586180279 Question Type: MCQ Option Shuffling : Yes



Correct Marks: 1 Wrong Marks: 0.25
IATEE Feg-Fai & fger s & 21
gigaa fews fTw?

Options:

9 HTHIT TF =S JUH & IS

9y IS TUT g T

4 o TCEHA el JUT g IS

Question Number : 98 Question Id : 586180280 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

gAY Ay & oAl fw FEma &
&
Options:

1. » ¥EHF A U9 HY FAS & @R o

Y o Fellaaer faaRuRT o
3« TEaFaEEr feEmum &

A FEpias SeuEEr FERuRr J

Question Number : 99 Question Id : 586180281 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

fEdr-T1eT & g $8R H F7 IRIad e@E
feam:

Options:




1. « UE-#3K 3= fass g amar

> fee-SN 3¢-wrEr A g

3 AeE, HER HEHAASS & 71T

4 « USE-HSK 3T=fores & a1

Question Number : 100 Question Id : 586180282 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T & e EEr s F Fr 9Rede R
few?

Options:

1. » FTHIOT ecl WX HfeeR sof fEar T |
7y T STST & AT F HIAY AT

9 4 TER-EHIETRE S T T

4 » TRRE U HEUSET e HIATT AT

Question Id : 586180277 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (96 to 100)

Question Label : Comprehension



Ao @a s=ger & 9et 30+ TEr 3ca? |

“Myfas Fer H oo FHg H N Ay IREaa
A
wmama@aﬁmmmlﬁm
SITST ST 39T &< 17| 1900 & S BATErRT
Fed H TcHH <l &1 JAT §ar AT SHF
A H Tpide 30U, SEATANS, HITATH
TUT ST FT THAE UT| IRUTHAT: T FT A
U off FEFafess & Tl 1936 ¥ &
Ferfeamer faRemT & Al anr F AHEHT
FT eI ofomAa: aTHIT oreg, HTaTeeh 2lsC,
HETat- SR aal @S S & 37 g4 w9
HTSAET & &1 UTsTNE oreg Rer & a7 et
HAF HRTET ASIHIAT T FHART 2Ace-THE
HHE giaT Forr )

Sub questions

Question Number : 96 Question Id : 586180278 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

st e F R s F o afade ger
Options:
1.« &S ar &7 w3 &5 g )

2« TR e & e TR g e

3, [ & wmweg # 30 & oz I A



A w TEET ST WER-HFT EN Tl IS

Question Number : 97 Question Id : 586180279 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

SHEE Fed-gad & fgér s & =
ofiEas fems few?

Options:

1 u FCHRE FUE I

Dy HHT TF T FUF & IR

3« IS 9T F IS

4, o TcHA YSEA T & T

Question Number : 98 Question Id : 586180280 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

gANT ey &t arAeaw e fommumr o
&
Options:

1. » §EH THS U9 HY THS & FERum &

2. v TEaEmEr e &

3« TEIFaER TERu J



A« TEpice ScuEel EERyRT &

Question Number : 99 Question Id : 586180281 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fEdr-71ew F g $3R H F7 IRIad G@E
e

Options:

1 & EE-91ER 3RS s g e

5 S-SR 3o-HRET AT & T

3 o UG HER WEpAless g I

4« Y-SR Hidfee g T

Question Number : 100 Question Id : 586180282 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

W % a8 & s F Fa ofwds R
few?

Options:

1.« SHOT e R 3T g fem

2w SIS SN F AEET P HIAY AT

3 . HEE-S i Faaie S a9 5



4 o TRERE T8 FERET qeE HIAIT A0

Disciplinel
Group Number : 6
Group Id: 5861807
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
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Maximum Instruction Time: 0
Minimum Instruction Time: 0
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Question Number : 101 Question Id : 586180283 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Let R denote the set of all real numbers, and [x] denote the greatest integer less than or equal to x. The Greatest Integer
Function f: R — R, defined by fix) =[x] forall x in R is:

Options:

1. # one-to-one but not onto

7« onto but not one-to-one



3. « neither one-to-one nor onto

4. % both one-to-one and onto

Question Number : 101 Question Id : 586180283 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A iteT R @l aafae wemst & ¥ #F Wi S £ 3R [ o ® w1 el 30was 9o
TE F AT Far g1 HeaH 7 §E9 e f 0 R — R# f(0) =[] TR R S g
RA®TT T

Options:
1 TATIA W HAZ ar

5 FFE W AL T

5 o FAEE AR Hfa-g gt @

A« FTAEIA IR HH-T g

Question Number : 102 Question Id : 586180284 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Let R be the relation on a set A={1. 2, 3, 4} defined by R = {(1, 2). (2, 2), (L, 1), (4.4). (1, 3), (3, 3). (3, 2)}. Then R is:
Options:

1.

symmetric and transitive but not reflexive

b4

reflexive and symmetric but not transitive

/el

&

an equivalence relation

-
%



4.  reflexive and transitive but not symmetric

Question Number : 102 Question Id : 586180284 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT A= {1, 2 3, 4 FHeu R F = 9o ¥ afsnfea FFar smar &, R = {(1, 2), (2, 2), (1, 1),
(4.4), (1, 3), (3, 3), (3, 2)} & R &1 AF g

Options:

1 « TAET IR TFaS dAfeha Tiaad el

3. » THEIG dayg

4. » Sioad AR GhHE olfchd GAAT 6l

Question Number : 103 Question Id : 586180285 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Let f: N— Y be a function defined by f(x) =4x + 3 for allx in N, where Y= {y € N: y=4x + 3 for some x € N}. Then
the inverse of f is:

Options:
1. v FTO)=G-3)/4

2. % 700 =(+3)/4

3.« F1W=G-49/3

4 x 10 =(x+4)/3

Question Number : 103 Question Id : 586180285 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

AT AT f: N = Y Baad o N & |1 x & 0 () = 4x + 3 ¥ ofenRa & s &, s=fF
Y={yeNy=dc+3F0F BT xe N} 37 fa & 1 & sgea g

Options:

1. v F0=(@-3)/4

2 % FD=Cx+3)/4

3 x f'@=x—4/3

4 x fl@0=(x+4)/3

Question Number : 104 Question Id : 586180286 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The solution of the equation tan 1 2y +tan 3y =T /4 is:

Options:

1. & x=-1
2?2 #% x=1
3 v x=106
4 % x=1/4

Question Number : 104 Question Id : 586180286 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HHRIOT tan~ ! 2x + tan~' 3x = w/4 T BT B

Options:



2 & x=1/8

A x x=1/4

Question Number : 105 Question Id : 586180287 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the value of (E —ginT1 (—1)) 3
3 2

Options:

Question Number : 105 Question 1d : 586180287 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

G —sin~?! (_Ti)) FT AT AT F

e

Options:

1. = 025



2 % 1/3

3. » 05

Question Number : 106 Question 1d : 586180288 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

It is given that. tan™*1 + tan™22 + tan~1x = m. Then x is equal to:

Options:

1. s

3
2

Question Number : 106 Question Id : 586180288 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tor T & &, tan 1+ tan 2+ tanlx =1t O x & I B
Options:



Question Number : 107 Question Id : 586180289 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

8 0 2 =2
IfA= (4 —2) and B = ( 4 2 ) then find the matrix C which satisfies the equation 2A + 3C = 5B.
3 6 —5 1

Options:

(-6 —10
12 14
1 v \-31 -7

(6 10
;(12 14)
4 % \-31 7

Question Number : 107 Question Id : 586180289 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

8 0 2 P
EI‘Fc:A_(cL —2)3ﬁ?B-(4 2),%Fﬁm2ﬂ+3c_58ﬁﬁ?ﬁ?mﬁmﬁﬁﬁ@wc
3 6 -5 1

HT A AT HLI
Options:



12

12

12

12

Question Number : 108 Question 1d : 586180290 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the values of a and b from the following equation:

(2(;; - 4[1j 3)) = (141 52)

Options:
1' % a=1, b=4

Question Number : 108 Question Id : 586180290 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

(ZEEJFU 3 ):(4 _g)mmﬁmﬁaﬁ?bmmmﬁ:

11 4(b + 3) 11 24
Options:
1 « a=1,b=4

Question Number : 109 Question Id : 586180291 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

0 1 2
The inverse of the matrix A = (1 2 3) is:
31 1

Options:

/11 -1
?(—B 6 —2)
1. = 5 -3 1



Question Number : 109 Question Id : 586180291 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

0 1 2
;E\ﬁ;aatrﬂ=(1 2 3) T kA B
3 1 1

Options:

Question Number : 110 Question Id : 586180292 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The number of all possible matrices of order 3 * 3 with each entry 0 or 1 is:
Options:
1. = 81

% & 512



Question Number : 110 Question Id : 586180292 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

el 9faf®e 0 a1 1 & Ty =T 3 x 3 &F wefr menfag Aftsw Fr g=ar gem:

Options:

1. = &1
2. » bB12
3 = 18
4 = 27

Question Number : 111 Question Id : 586180293 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If length of three sides of a trapezium other than base are equal to 10cm, then the area of the trapezium when it is
maximum is:

Options:

1. = 85+/3 cm?

27 % 7143 cm?

2 734/5 cm?



4. ¢ 75V3cm?

Question Number : 111 Question 1d : 586180293 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g 3R & HeEr R FHes agis B A9 el F FEs 10em ¥ I &, o FHes aga
FT STF HTUHTH gl 9T B

Options:

1. = 85+/3 cm?

2 % 7133 cm?

3. % 73V/5cm?

4. » 75V3cm?

Question Number : 112 Question Id : 586180294 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If A and B are symmetric matrices of same order, then AB — BA is a:
Options:
1. # Null matrix

? % Symmetric matrix

3 Skew symmetric matrix

4. % Identity matrix

Question Number : 112 Question Id : 586180294 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

afg A 3R B s & 3T & wAAT Aftew &, ar AB - BA gFm:

Options:

1 o Hfeww

oy wAEfET AftFw

3 Tovw wafEg #ftew

4« TAE Aftew

Question Number : 113 Question Id : 586180295 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If area of a triangle is 35 sq. units with vertices (2.—6), (3, 4) and (k. 4), then the value of k is:

Options:

1. » —12,-2

-

2 W

Question Number : 113 Question Id : 586180295 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

oM o e &1 dwer 35 =9 s ¥ 3R sus Rew @ T=RE (2, -6), (5, 4) AW (k, 4), § A
k T AT EE:
Options:



1. % —12,-2

5 o 12,2
3 = 12
4, = -2

Question Number : 114 Question Id : 586180296 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Let A be a square matrix of order 3 * 3 and k be a non-zero scalar, then | kA| is equal to:
Options:

1. = K|A]
2. v FlA|
2 % k|A]

4 % 3k[A]

Question Number : 114 Question Id : 586180296 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A TF 3 x 3 H & 39 Aftew &, F9F k v anpw sy € O |kA| BT & seR g
Options:

1. = K2IA|



2. v KIAl

3. = kIA]

4, = Sk[A]

Question Number : 115 Question Id : 586180297 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The cost of 4 kg onion, 3 kg wheat and 2 kg rice is T 60. The cost of 2 kg onion. 4 kg wheat and 6 kg rice is < 90. The
cost of 6 kg onion 2 kg wheat and 3 kg rice is T 70. Then the cost of each item namely onion. wheat and rice per kg are
respectively:

Options:
1. = 3.5.8

I-a

2 % 58,

3 » 588

4 = 854

Question Number : 115 Question Id : 586180297 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

4 kg =uT=, 3 kg FF AR 2 kg =S F FAT T60 71 2 kg W=, 4 kg FF HR 6 kg TEE F FEg
790 21 6 kg =TS, 2 kg A1F R 3 kg Tae #r G T 70 g1 A w2, A R wmEe fr feears &
HIAT FHAA: g

Options:

i « BE S



5 w 5.8 2

3 ¢ 58,8

4_ ® 8: 5: 4

Question Number : 116 Question Id : 586180298 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If A is an invertible matrix of order 2, then | Allis equal to:
Options:
1.5 0

Zz w1
3 % A

4. v VA

Question Number : 116 Question Id : 586180298 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ofg A 7 2 F1 oF g Aftew 7, a (Al | FF A @ fFas sue g@em

Options:



3. = |Al

4. » VIA]

Question Number : 117 Question Id : 586180299 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IfFf(x) = {lxlcns (;) + 9x? :;i i g , then f is continuous if the value of k is:
? R e

Options:
1. = 6

Question Number : 117 Question Id : 586180299 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g f(x)={|x|cus(;)+9xzuﬁ‘-x = g, ar k & T @ AT & T f G99 gFm
k

X .
Options:

1. = 6

2. ¢ 0



Question Number : 118 Question Id : 586180300 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Let f be a continuous function on [1,3]. If f takes only rational values for all x and f(2) = 10, then £(3/2) equals:
Options:
1. = 20

[£(1) + £(3)1/3

-
%

4'\7 10

Question Number : 118 Question Id : 586180300 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

f [1,3) T U Tad T g1 T f T« 3T f (2) = 10 F BT F9e Tohaeg A a1 g, ar f (3/2)

T & sueT gFm
Options:

1. = 20

2 = 8

3 & [ +£(3)1/3

4, » 10

Question Number : 119 Question Id : 586180301 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

Let [] denote the greatest integer function and f(x) = [tan®x]. Then:
Options:

1. » fix) is not differentiable at x =0

. fix) is continuous atx =0

3 x limf(x)does notexist x — 0

4 = £'(0)=1

Question Number : 119 Question Id : 586180301 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT AT ] mwwaﬁﬁlﬁﬁm%ﬁ?f[ﬂz[mnzﬂ g do
Options:

1w f),x = 0 T Ghe=irT el &

2 ¢ x=20 T H9T &

3. x lmf(x),x—0 9T MTeded H Fgr B aT g

4, = F({0)=1

Question Number : 120 Question Id : 586180302 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Iff(x) = |x — 2| for x # 2, and f(2) = 0, then assess the following:

(a) fis differentiable atx=

(b) fis not differentiable atx =2
(c) fisnotcontinuousatx=2
(d) fiscontinuousatx=

Options:
1. = Only (a) is true

2w Only (b)is true

3w Only (c) is true

4. » (b) & (d) are true

Question Number : 120 Question Id : 586180302 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T () =|x—2] & BT x=2, AT (2)=0, T I 57 Ty FT ATFaT FO

(a) f x = 2 T HATHFAAT &
(b) fx = 2 9T HIFASTT FAdl &
(€) fx = 2 9T Uad #al &

d) fx =2 WaIT &
Options:

1. = Fad (a) HT &

5« ¥ (b) T ¥

3w ¥ (c) T ¢



4. » (b) 3R (d) A wew }

Discipline?2
Group Number : 7
Group Id: 5861808
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Discipline?
Section Id : 58618012
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions; 20
Number of Questionsto be attempted: 20
Section Marks: 20
Sub-Section Number: 1
Sub-Section Id: 58618015
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 586180303 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

2 a
ax=—b Wlx]-< Xy : :
Ix] is differentiable, then the values of a and b are respectively:

If the function f(x) ={ x| iflx] > 1

Options:
1. x 1.—1

2w 12,172



o

4
[T
[~J
s
[-Jd

[
o
i

4 s U

Question Number : 121 Question Id : 586180303 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ax2—b TR x|< 1 i
ﬁwwﬁﬂ:[—uﬂ TRl > | RS E, A a #R b F A FHA: g
Options:

1. = 1L-1
2 = 1/2,1/2

3 o 12 872

4 & THAJ3

Question Number : 122 Question Id : 586180304 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The length of the subtangent to the ellipse x =acost,v=bsintatt =mn/4 is:

Options:

1. = a

3.v /V2



Fi b/+?2

Question Number : 122 Question Id : 586180304 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

x = acost, y = bsint 3R t=7/4 g W &Egcd F TI-oic H FaTg gl

Options:

3. v V2

4, = b/V2

Question Number : 123 Question Id : 586180305 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The distance between the origin and the normal to the curve y = e®* + x? at the point whose abscissa is 0, is:

Options:

1. » 1/+/5

2. % 2/3

3. v 2/V5

4 x 3/5

Question Number : 123 Question 1d : 586180305 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



0 vfemar & g W % y =™ +x? & 7o (AN 3 w7 @F@e) & &= $ gfr e
Options:

1. & 1745

2. % 2/V3

3. ¢ 2//5

4, = 3/5

Question Number : 124 Question 1d : 586180306 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The maximum value of x1/* is:
Options:

J I

l/e

-2
&

3. = (1/e)°

4 J El..-‘e

Question Number : 124 Question Id : 586180306 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

x/* T HFTH A EET

Options:

1. = e



2 = 1/e
3. x (1/e)°

4. v &'l

Question Number : 125 Question 1d : 586180307 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Let f(x) = 22  Then fix) has:
cx+d

Options:
1. « Do point of inflection

7 ® amaximum

3 acritical point

A % aminimum

Question Number : 125 Question 1d : 586180307 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

afEr f(x) = a‘i: T ar fix) gem

Options:

| T g fag

2w HEHaH



3 5 T AgeaqUT faig

A« FHHEFH

Question Number : 126 Question Id : 586180308 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The minimum value of f(x) = |13 — x| + |2 + x| + |5 — x] is:

Options:

Question Number : 126 Question Id : 586180308 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

f(x)=[3—x|+ 2+ x|+ |5 — x| T FATH AT g

Options:
1. = 10
2. ¢ 7



Question Number : 127 Question Id : 586180309 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The tangent to the curve y = x® — 6x2 + 9x + 4 ,for 0 < x < 5 has maximum slope for the value of x = a. Thena is
equal to:

Options:

1. =

It

Faa

2. %

3. % 4

n

4, v

Question Number : 127 Question 1d : 586180309 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TFy=x*—6x2+9x+4F0<x <5 F 0w valsar (&) 71 30Fam o= F AT G T A
aTFT & SET gem:

Options:



Question Number : 128 Question Id : 586180310 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The absolute minimum value of a function f defined by f(x) = 12x*3 — 6x%/3 for— 1 < x < 1. is equal to:

Options:

Question Number : 128 Question Id : 586180310 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fordT ®oa & O gAaH AT F 5 ST TAEUTH f(x) = 12x*2 —6x2 & — 1 < x < 1, TRe™T TFaw
JTTT &, SHS SIET g

Options:
1. = 6
2 = 18
3. v 94
4, = 0

Question Number : 129 Question Id : 586180311 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

dx

The value of the integral | —— ...
g f Jx(sx—2) 15

Options:



.
i:’_?
f.ltl'l | E
—
=]
(i

2 Elﬂg (x—%x)—i—('xz—g) +E
3 Elﬂg (xé—%)—!—(ix—g +C
i & Elﬂg (x—i)—!—( xz—?) +C

Question Number : 129 Question Id : 586180311 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

oo [ —2— & AT 2T

yx(5x—2}

-+

Options:

+C

e
[et]
|
w |
b S

1
Elng

2. ® g _E)“*(JE) +C
a8 TE (XE__X)+( x‘i)ﬂ:
4. ¢ Tging( _§)+( xz—z—x) +C

Question Number : 130 Question Id : 586180312 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



i i A 1
The anti-derivative of /x + — equals:
v

Options:
1. = ix”3+2ﬁ+c

5 §x3f2+2ﬁ+c
L xRy la? g
2. B 2 2

%xaﬁ + iﬁ%— c

4.

Question Number : 130 Question Id : 586180312 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ﬁ+% # fa-cgedes foFa & awaT gem:
Options:
i « §x153+2ﬁ+c

213*’2 +2x+c

2. ¢

2 1
x*2+=x%+c
3 = 3 2

%xm + %-JE-J— c

Question Number : 131 Question Id : 586180313 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The area of the region in the first quadrant enclosed by the x-axis. the line v = x . and the circle x* + y* = 32 is:

Options:



1. % 8

2“; 411

3 40— 2)

4 x Am+2)

Question Number : 131 Question Id : 586180313 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

X-38T, T@T y =
Options:

1. = 8
2. v A4m

3. x 4m—2)

4w 4m+2)

x, HR g x? +y?> = 32 EINT Ho@A Tgol ﬂgﬂ?n" F &Y FT SI%d g

Question Number : 132 Question Id : 586180314 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The area of the region bounded by the two parabolas y = x? and y*=X is:

Options:
1. = 2/3



Question Number : 132 Question Id : 586180314 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ar W y=x2 AT yi=x ¥ Y &7 77 S9% g

Options:
1. = 23
2. % 1
3. % 4/3
4, » 1/3

Question Number : 133 Question 1d : 586180315 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The area of the region enclosed between the two circles x> + y* =4 and (x — 2)? +y* =4 s

Options:
8n =
.o d 8

3



Question Number : 133 Question Id : 586180315 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

aﬁ'@xz—Fyz:élBﬁT (x—2)2+y>=4 T X &3 7 a9%a gem:
Options:

=243

1. v =2

3, « O

3

Question Number : 134 Question Id : 586180316 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

i iR
The order and degree (if defined) of the differential equation (d—ir) + cos (i}r) =4} s

da
Options:
1. » Order=2, Degree= 1

2 x Order=2, Degree =2

3 Order=2, Degree is not defined



4. » Order=4, Degree =1

Question Number : 134 Question Id : 586180316 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ST 3Tkl THIFIOT FT 3T 3T = (3fe aftenRa 2 & &Y Bﬁ?‘f‘r(g)z + cos (Z—D =0:
Options:

1.« 3T =2 Bl

I
—

Question Number : 135 Question Id : 586180317 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Form a differential equation representing the given family of curves y = e*(a cos x + bsinx) by eliminating arbitrary
constants ‘a’ and ‘b’ is of the form:

Options:
d’y dy B
d%y dy .
d’y dy ie
3w dx? —dx-i-Z}f—{]



d? d

Question Number : 135 Question Id : 586180317 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

vrgeirT e (3nfeed Fieede) o’ 3t b FF e gTy= e*(a cos x + b sin x)& T T
22Tl JTT Uk HSeholdh HHIEIT &

Options:
d?y dy

1, & G ta
d d

2 .4 ——2+2y=10
d d

3, = o i PP

Question Number : 136 Question Id : 586180318 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The number of arbitrary constants in the general solution of a differential equation of fourth order are:
Options:
1l.v 4



#®
=

4.

Question Number : 136 Question Id : 586180318 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TG FA (P HR) & TF Faemed GARUT & FART g H THaaia s (el seee) &
g&TT et
Options:

1; » 4

2. % 3

Question Number : 137 Question Id : 586180319 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In a bank, principal increases continuously at the rate of 526 per vear. In how many vears (approx) < 1000 double itself?
Options:

1. » 20log.4

2 % 20/log.2

3 o 20log.2

4, » (0g.2)/20

Question Number : 137 Question Id : 586180319 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



U dd A, AU TS 99 5% F & F TAS ¥ & Fgar gl T 1000 F EEET @ A o I (wEreE)
Y

Options:
1. = 20log.4

2 « 20/log.2

3. « 20log.2

4 % (l0g.2)/20

Question Number : 138 Question Id : 586180320 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If3d=21+2j+3k b=—1+2j+k and &= 3i+]+ Ok, are such that 3+ A b, is perpendicular to ¢,
then the value of A is:

Options:

1. = 5

2.« 8

Question Number : 138 Question Id : 586180320 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TfEi=2i+2j+3k b=—1+2j+k X é=3i+j+ 0k TR T e R T =g E B 3i+AD, ¢ &
a9 g, dt A HT g
Options:



Question Number : 139 Question Id : 586180321 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

A boy walks 4 km towards west, and then he walks 3 km in a direction 30° east of north and stops. Then the boy’s
displacement from his initial point of departure is:

Options:

1. =

w
wa]

n Y

1+

—3
3

!.[L
S
£ ||
il
+
(1N ]
g ey
|Lu'|
Nl 3

Question Number : 139 Question Id : 586180321 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U g UfFEH # AT 4 km Foar g, AN B 97 seat-q@ M 30° FoT 0¥ 3 km Tedr 7 3R
T ST g1 A YA F TRiHE §g § A5 H A gem

Options:



[d%]
L
o

|
1. = =2 2
-3 . 43,
o 2
. A,
i G S |
. T 2
-3 3V3

Question Number : 140 Question Id : 586180322 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ty—14 £2—3 T—Fx -5 6—2 ; ‘
YT o and == are at right angles, then the value of p is:

. 1—x
If the lines =
3 2p 2 ap 1

i

Options:
1. = 67/12

2' « T0/11
3 = 48/23

A = 78721

Question Number : 140 Question Id : 586180322 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT - X2 Gl T 12 2 o gy & WEHIOT W E A p F AW @

Zp 2 3p 1

Options:

1. = 67/12



2. ¢ 7011

3. w 48/23

4. = 78/21

Discipline3
Group Number : 8
Group Id: 5861809
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Discipline3
Section Id : 58618013
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 58618016
Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 586180323 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The Atanasoff-Berry Computer (ABC) used

Options:

for internal logic and

for storage.



1. « Vacuum tubes, capacitors

Vacuum tubes. transistors

b

2

Transistors, capacitors

-
%

Capacitors, transistors

-
%

Question Number : 141 Question Id : 586180323 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TEHTEATE-3{T FUeX (ABC) $TAd Witaieh & foT 1 3R =Rs ¥ o &7 39T
T B
Options:

1. »

3 . g, Safed

4.« FIfacE, gfeEed

Question Number : 142 Question 1d : 586180324 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is a must-have input device on modern personal computers?
Options:
1. = Joystick



? % Digitizer

3. « Mouse

A % OMR

Question Number : 142 Question Id : 586180324 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

gfas e gl & v e F @ #i9 saqe Rasw aar e &2

Options:

4 » HTEHR (OMR)

Question Number : 143 Question 1d : 586180325 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Optical Mark Reader (OMR) can be considered as a:
Options:
1. « scanning device

? % pointing and drawing device



3. % vision-based device

4. » speechrecognition device

Question Number : 143 Question Id : 586180325 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e AR {7 (AR (OMR)) # @& AT 3 & ¢

Options:

1 o Ehieer Basa

D, » TSR AR g BAwH

3. = ea-amaie Besw

4w T NFEaes Bamd

Question Number : 144 Question Id : 586180326 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

The E13B is the most commonly used character set by MICR devices. It consists of numerals 0 to 9 and special
characters.

Options:
1.« 4



Question Number : 144 Question Id : 586180326 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

E13B, MICR f3arsdl gamr waifoes wgaa Heed ¥ g1 597 0 ® 9 &% & 3R o s
g gl
Options:

1, - A

2. u 8

Question Number : 145 Question Id : 586180327 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

is the most popular soft-copy output device used today.
Options:

1. & Printer

? % Scanner

3. # Plotter

4« Monitor

Question Number : 145 Question Id : 586180327 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



TIAA & ITAT H T TN FAOF AT FF-FAT 3P BT B

Options:

Question Number : 146 Question Id : 586180328 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A speech synthesizer converts into

Options:
1. = spoken sentences, text information

2 . textinformation, spoken sentences

3 textinformation. images

/. % spoken sentences, images

Question Number : 146 Question Id : 586180328 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

UF T HYEER, T # Scordr 2

Options:

1.« Sl 9T I, IS AHFRT




2, YIS FAFHN, Sl T JFY

3. « UG AR, Sear

4« St 70, o

Question Number : 147 Question 1d : 586180329 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Magnetic disks are available in different sizes. The size of a disk is usually referred to by its:
Options:
1. = thickness

? % radius

3. « diameter

circumference

4.

&

Question Number : 147 Question Id : 586180329 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TreehT 355, Rfdes @t § s9oey €| B # wns o 55 % sepEr vt gar g

Options:



Question Number : 148 Question Id : 586180330 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following companies invented the floppy disk drive (FDD)?
Options:
1. & Microsoft

2. v IBM

3. % Intel

4. » Apple

Question Number : 148 Question Id : 586180330 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A= 7 o 5w Fuar & vy 8% ggg (FDD) & faser &ar?

Options:



Question Number : 149 Question Id : 586180331 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following consists of one or more programs and controls the operations and/or extends the processing
capability of a computer system?

Options:

1. ® Anti-virus

? % Firmware

3 System software

Application software

4.

&

Question Number : 149 Question Id : 586180331 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T 7 8 e o 30 9w g § 3R w9 Reew F vmeer w7 Wi axar g v

Options:
1. = TE-IIg

2 % BHIW

3 o s goeaww

A w TR AT



Question Number : 150 Question Id : 586180332 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is a numeric-data analysis tool that allows us to create a kind of computerised ledger?
Options:
1. » Word processing software

2 . Spreadsheet software

3 Utility software

4 = Adware

Question Number : 150 Question Id : 586180332 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o & & #l7 e e wfafaw oo § 51 e UF Ot 7 FFUedEd SIar S gleT
& 272

Options:

1. » TEHEIET AHEITT

2 v TEefiT e

Question Number : 151 Question Id : 586180333 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is used to modify and customise everything Windows does?

Options:



1. » Recycle Bin

2 « My Computer

3. « Control Panel

4. % Windows Explorer

Question Number : 151 Question Id : 586180333 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e & 9% s & TR AN segfoe &= & v e 7 § 58 39 G 22
Options:

1, » Rustee fo=

2, » T (My) S

3. o e A

4. « @ tsEwER

Question Number : 152 Question Id : 586180334 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

The Windows 7 edition contains the least number of features and is mostly used for computers with
limited capabilities.

Options:

1. ®* Home Basic



? & Starter

3. ®% Home Premium

4 % Ultimate

Question Number : 152 Question Id : 586180334 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

faer= 7 FERUT H Y FA [39ware § iR 5§ @iffg arwant awr segel W sarae
39T R ST g

Options:

1. = gy af8es

2_@*1-_61_&?

Question Number : 153 Question Id : 586180335 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What happens to the Computer folder window when vou click the Minimize button?

(1) The Computer folder window remains available. but is no longer an active window.
(11) The Computer folder window collapses down to an icon on the taskbar.

Options:
1. = Only (i)



2w Only (ii)
3 ¢ Both (i) and (ii)

4. % Neither (i) nor (i)

Question Number : 153 Question Id : 586180335 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

s 3 Afaess 9e7 W Fes w2 € & Fv9eT wiest &Er 7 F47 g 87

(i) =X Hiest a3 suered @ar ¢, feg 78 tiees fast @@ @ s
(i) F=geT FresT st Frecy g TFFa § HEFF 99 Far g

Options:

3. v () 3 i) aet

4, = () & Er (i)

Question Number : 154 Question Id : 586180336 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

is a software application that enables a user to locate and view pages on a website.
Options:
1. = URL



? ® Adware

3 » Hypertext

4 Web browser

Question Number : 154 Question Id : 586180336 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TF FIUCAdY Tooheld g S S9AiFdr #3988 W 9 Tietw 30K @@= &7 glaur ger=
FT 2
Options:

1« TIWTHURL

2 % TUsAW

Question Number : 155 Question Id : 586180337 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following statements about the Internet is FALSE?
Options:

1. % Internet is also called the network of networks.

? w Internet is a global network of computers connected by a physical link or a satellite.



3 . Internet is owned by USA and European Union.

/. % Internet and Intranet are not exactly same.

Question Number : 155 Question Id : 586180337 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1 « SEGIC Acae! #1 Acde o FHgandT gl

2. %
STIAT HFYL HT T ATk ATk g =i [hiorehel ol AT 39998 ¥ 3 & ¢

3 v gelAe # TElfacT USA 3R I a9 & 91 2l

4« T AN T WA AL g

Question Number : 156 Question Id : 586180338 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

is used for sending emails, whereas is used for receiving emails.

Options:
1. ¢ SMTP. POP

9 » POP, SMTP

3 % SMIP, HTTPS



4. w» HITP, SMIP

Question Number : 156 Question Id : 586180338 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

=T 39T SAS A9 F v Bar Far g, F9 FT 3YINT HA 9°d Fl & forw
far Smar g
Options:

1~ SMTP, POP

2« POP, SMTP

3 % SMTP, HTTPS

4« HTTP, SMTP

Question Number : 157 Question Id : 586180339 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

When vou open a new document in Microsoft Word 2016. the default font size is:
Options:

1.

10

&

Question Number : 157 Question Id : 586180339 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

ASHETE 95 2016 H TH JIT STARS Wield W, BFlee we AsA grar &
Options:

1. = 10

2. o 1

3 = 12

4. = 14

Question Number : 158 Question Id : 586180340 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

If the font size of a text, say “Hello World”, in Microsoft Word is 36 points. then it is approximately same as
inch.

Options:

bb.
i
=
~.]
L

Question Number : 158 Question Id : 586180340 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ofg AEwETe 3 F O s 3 F ‘FET 9557 F Bl @5 36 TEEe @, ar I ol ST g

Options:



#. & 925
3 ¢ 05
4. = 075

Question Number : 159 Question Id : 586180341 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Which of the following options within the Insert tab of Microsoft Word 2016 provides graphical lists, process diagrams,
and more complex graphics such as Venn diagrams and organisation charts?

Options:
1. «+ SmartArt

2 w Shapes

3w WordArt

4 % Chart

Question Number : 159 Question Id : 586180341 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AEFEGE 35 2016 & FHC o8 A e H ¥ Fia & Bhoq, Tihaa g1, Ta SHIH, J9 JUF
Ffear Wiher ST F 37 3@ 3T FFAERE I 390 F4r &7

Options:

1. v THERIHC



Question Number : 160 Question 1d : 586180342 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

State whether the following statements are true or false:

(1) WordArt adds some artistic flair to vour Microsoft Word documents.
(ii)  Ina Microsoft Word document, the Footer option helps vou repeat content at the top of every page.

Options:
1. v (1) — True, (i1) — False

2 w (i)—False, (ii)—True

3 u (1) —True, (ii) — True

(i) — False, (ii) — False

<,

®

Question Number : 160 Question Id : 586180342 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FaT & e FuaT T § 30ET T
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Question Number : 161 Question Id : 586180343 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the absolute address of a Microsoft Excel cell at the intersection of the 12™ row and the 7% column?
Options:

1. » Gl2

®

2 ® GS128
3 ¢ SGSI2

A % SGSIS2

Question Number : 161 Question 1d : 586180343 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

121 & 9fFF 3Rk 7V F = F FoF W AEEEee TFad Je FT IOT TaT FAT Zem?

Options:

1. = G12

2« G$12%
3. » $GS12
4. = $G$182

Question Number : 162 Question 1d : 586180344 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the value of the following Microsoft Excel formula?

=SUM(1, 2)"2

Options:



1. & Error

Question Number : 162 Question Id : 586180344 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

oo ATSHETTT THET e F A fohaeT grem?

=SUM(1, 2)"2

Options:

1. = Error

Question Number : 163 Question Id : 586180345 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What will be the display value of the cell containing the following Microsoft Excel function?

=SUM(SUM(L. 2, 3), 4, 5)

Options:



1. % 6

? % Error

Question Number : 163 Question Id : 586180345 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o AEwTTe THE BRI aTe el & BTee deg 4T gem?

=SUM(SUM(1, 2, 3), 4, 5)

Options:
1. = 6
2. u Error

Question Number : 164 Question Id : 586180346 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following statements is/are TRUE?

(1) The number of rows in a Microsoft Excel worksheet is infinite.
(1i) The number of columns in a Microsoft Excel worksheet is finite.

Options:



1. = Only (1) is true

2 Only (ii) is true

3 Both (i) and (ii) are true

4. % Neither (i) nor (ii) is true

Question Number : 164 Question Id : 586180346 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o & & FiF T FuT Tl 22

(i) ATSHIETTFE ToFler el # 9fFaal $r §&ar 37aa gar 2l
(ii) ATSHTHITE TFer el H Ta&T &1 & HRea g gl
Options:

1. « ¥ (i) T @

2 o A (i) FET B

3.« () 3 (i) 2 WY

4, = () T E (i) FEE

Question Number : 165 Question 1d : 586180347 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Which of the following is displayed when the column in a Microsoft Excel worksheet is not wide enough to display all
the characters in a cell?

Options:



1. % &&&&&

3. % $85SS

4 B aAnsnn
¥

Question Number : 165 Question Id : 586180347 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. = &&&&&

2. v HHHRH

3. % $58%%

4. % AR LN LB

Question Number : 166 Question Id : 586180348 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following statements is/are FALSE?

(1) Pressing Ctrl +— N in Microsoft PowerPoint adds a new slide to your presentation.
(i1)  In Microsoft PowerPoint 2016, a presentation can be saved as a PDF.

Options:



1. ¢ Only (1) is false

2 % Only (ii) is false

3 Both (i) and (ii) are false

4. % Neither (i) nor (ii) is false

Question Number : 166 Question Id : 586180348 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

= & ¥ 37 I F37 79 22?

(i) ATSHIETFE qatearse H Ciri+N gaa 9T 3196 FHAeud H UF 78 F188 35 A 2
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Options:

1 » ae (i) Ted &

2« wad (i) TS

3« () 3R (i) S 7T 7

4« Far (i) arEr(i) T g

Question Number : 167 Question Id : 586180349 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

With respect to CPU architecture, what is the full-form of CISC?
Options:



1. « Complex Instruction Set Computer

Combined Instruction Set Computer

b

2

Complex Instruction Set Computing

-
%

Combined Installation Set Computer

-
%

Question Number : 167 Question Id : 586180349 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

CPU 3nféea=R & ¥esr #, CISC & I =TH FT g7

Options:

1 o FIEITE SEERE HT FH

5 HEAES FECRIA VT HEH

L A * e .
3 g AR STl HE hF=dIcT

A« FEAES ST HE FYX

Question Number : 168 Question Id : 586180350 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

With respect to CPU speed measurement unit, the term GFLOPS stands for:
Options:
1. » GigaFixed Point Operations Per Second



? . GigaFloating Point Operations Per Second
3w Google Fixed Point Operations Per Second

4. » Google Floating Point Operations Per Second

Question Number : 168 Question Id : 586180350 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

CPU =1f3 A9 S & Tesl H, 9 GFLOPS & ¥ &

Options:

1« FeT fheEs came HORE W Hs

2 R wEifEe Ese AR W OHEs
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Question Number : 169 Question Id : 586180351 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

With respect to protocols, what is the full-form of HTTPS?
Options:
1. » Hypertext Transfer Protocol Service

? % Hypertext Transmission Protocol Service



3 v Hypertext Transfer Protocol Secure

4. » Hypertext Transmission Protocol System

Question Number : 169 Question Id : 586180351 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Srerwre & Tesl H, HTTPS & 7 a1F &3 872

Options:

1« EERHFE TEH FEre Fiad

2y ETETCHEE AANA Werwd qiaw

3 o EEUHFR IEHT SIS A

4« EEICHFE TAAAT S HEH

Question Number : 170 Question Id : 586180352 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

With respect to computer storage media access, the term WORM stands for;
Options:
1. « Write Once Read Many

? % Write Or Read Memory

3 u Write Over Read Memory



4. % Write On Read Many

Question Number : 170 Question Id : 586180352 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FegeT TR Hifsar Barsar & Hew A, 9¢ I/ (WORM) & Y ¢
Options:

1 » T=e a8 §5 A" (Write Once Read Many)

2« TBC IR TS HANT (Write Or Read Memory)

3. » T AT S HAW (Write Over Read Memory)

4« Ts< 3 {5 AT (Write On Read Many)

Question Number : 171 Question Id : 586180353 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Consider the following:

(1) XOR gate
(11} NOR gate
(ii1) NAND gate
(iv) XNOR gate

Which of the given options represents the universal gates?

Options:
1. % ©Only(i)and (iv)

? . Only (ii) and (iii)



3 = Only (i), (ii), and (1ii)

4. » Only (iii) and (iv)

Question Number : 171 Question Id : 586180353 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o W =R T

(i) XOR 3
(i) NOR 31z
(i) NAND @1z
(iv) XNOR 3=

T ot Beent # ¥ FiA, gFT0T dew AT Far £7

Options:

1« ¥ (i) AR (iv)
2, Fad (i) IR (i)
3.« FaA (i), (i), AR (i)

4.« ae (i) 3R (iv)

Question Number : 172 Question Id : 586180354 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In which of the following combinations of logic gates is the functionality of one NOT the compliment of the
functionality of another?

Options:



1. v AND.OR

2 » OR NOR

3 % AND,NAND

4. » XOR.XNOR

Question Number : 172 Question Id : 586180354 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Al et & e 7 ¥ 58 §OIa # T &1 FEvmioe], Hed H BaRmioe! S G Ael 87
Options:

1~ AND, OR

2 &« OR, NOR

3 % AND, NAND

4 = XOR, XNOR

Question Number : 173 Question Id : 586180355 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If A, B are inputs to the following logic gate, then what will be its output?

Note: A’ and B' represent the compliment of A and B, respectively.

Options:



(A +BY

-2
#®

3 % AB+AB

A v AB+AB

Question Number : 173 Question Id : 586180355 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ofg A, B foeet oifores 91T & $a9C €, o ST 3T3CYC AT gem?

Az A 3R B FFEw A AR B & T Fwla w1 2

Options:

1. = A+B

2.« (A+DBy

3. « AB + AB’

4. v AB + AB

Question Number : 174 Question Id : 586180356 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following are the extreme-end layers of the OSI network model?

Options:



1. » Presentation layer and Data Link layer

2 % Application layer and Data Link layer

3 Presentation layer and Physical layer

4. » Application layer and Physical layer

Question Number : 174 Question Id : 586180356 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

/T # ¥ =19, 0S| Fcas AT Fr TFLEH-US 0T 87
Options:
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Question Number : 175 Question 1d : 586180357 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What will be the maximum number of links in a mesh network with N nodes?
Options:

1. &= N



3 o NN-1)2

4 % NN-1)

Question Number : 175 Question Id : 586180357 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

N AT & T TF AY Acads H e FF 3wam gear GFa=r e

Options:

3 o N(N-1)2

4. = N(N-1)

Question Number : 176 Question Id : 586180358 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In which of the following network topologies is every connection (link) a point of failure, i.e.. failure of any node
affects the entire network?

Options:
1. & Mesh

? # Bus

3w Star



4] « Ring

Question Number : 176 Question Id : 586180358 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. = &=
2 w @d
3. = TR

4, v T

Question Number : 177 Question Id : 586180359 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Consider a relation schema R(A, B, C). If A = B and B = C are two functional dependencies defined over R, then
which of the following can be considered as a candidate key?

Options:
1.« A



Question Number : 177 Question Id : 586180359 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T e ERAE R (A, B, C) o ff=mr =41 afg A 5 B 3t B > C, R wt uiftg & saem=s
freET (Gerae R9EEe) O e & ¢ 5w 9% i #4977 gFar 22

Options:

1. ¢ A
2. » B
3. % C
4. = BC

Question Number : 178 Question Id : 586180360 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is an atomic as well as a single-valued attribute?
Options:
1. & Address

? # Contacts

3w Age

4 % Data of birth

Question Number : 178 Question Id : 586180360 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e & & #i7 v veiae au ved A aren (e dg) tiege 87

Options:



3. ¢ W
A« SeATAEr

Question Number : 179 Question Id : 586180361 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following statements about Microsoft Access is FALSE?
Options:
1. » Microsoft Access is a relational database management system

2 % Microsoft Access is an integral component of Microsoft Office
3 . Images cannot be stored in Microsoft Access tables

4. » Microsoft Access was developed by Microsoft

Question Number : 179 Question Id : 586180361 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AEFETE TF0T & TN H 0T # ¥ FiF T 57 7T 87
Options:
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Question Number : 180 Question Id : 586180362 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following correctly describes the entity integrity constraint over a database table?
Options:
1. » The value of foreign key cannot be NULL

? . The value of primary key cannot be NULL
3 » The value of secondary key cannot be NULL

4. » The value of atomic attributes cannot be duplicate

Question Number : 180 Question Id : 586180362 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 181 Question Id : 586180363 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Identify the FALSE statement pertaining to the features of a total station:
Options:
1. » Automatic target recognition



? . Cannot be used for setting out works

Provision exist for automatic orientation to the direction specified by user

b

3.

Refelctorless distance measurement

<,

:

Question Number : 181 Question Id : 586180363 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

2Iee T AT [Fiwarsit & T H, g FUS T =ieed

Options:

1. « TS &g Tg=e

2 o # Afcse & % e sager @& G o g

3 3udtear ganr fAfdse feer &g weanforg Resfasara &g yreure @ar

4 » TEGH Med gl A

Question Number : 182 Question Id : 586180364 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
A square plot was measured with a 30 m chain 10 ¢m too long. The length of the side of the plot is 300 m. Find the true

area of the plot. (in m?)
Options:

30.1

1 v (g)2 % 3002

30

7 (E)zxmoz



30,1

3 (;)x 3002

30

1 (E)x 3002

Question Number : 182 Question 1d : 586180364 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U FFER TS F ATA 30 m Fr FHT T FAT T S 10 cm #0F = o) sm@E #r oo #odee
300 m gl @S F IEAfas SIF AT HY (m? FH)
Options:

301

- (E)E x 3002

(ﬂ)z x 3002

2w \a0a
3 . (%)mm]ﬂ
i (%)mm]ﬂ

Question Number : 183 Question Id : 586180365 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A scale of | cm =2 km is represented as a representative fraction as:
Options:
1. = 1:2000

: 20000

[~2
b
-



3.« 1:200000

A, % 1:2000000

Question Number : 183 Question Id : 586180365 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1 cm = 2 km & 3AET, T AwTH e & ¥ & e gaftia gem:

Options:

1. = 1 :2000

2 % 1:20000

3. « 1 : 200000

4. % 1 : 2000000

Question Number : 184 Question Id : 586180366 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the case of total station survey, an application program that can be used to locate the station occupied by the
instrument by observations to a minimum of two known points is known as:

Options:
1. » ground station

? « free station

3w forced station



4. % data management system

Question Number : 184 Question Id : 586180366 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ST FEUA TAGTUT % AIHAS H, T Uleashed WanH, 9@ 77w & #a gt g Jefolt gam,
TV EFRT HOREIT T T & T 39017 3537 ST TehaT §, 38 g &

Options:

1. % 9138 B

2_ o T T

A, w ETET 99U 9O

Question Number : 185 Question Id : 586180367 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In using a total station, plunging of EDM and swinging of alidade is done: (EDM — Electromagnetic Distance
Measurement device)

Options:
1. » forachieving direct mode operation

2 forachieving reverse mode operation

3 forachieving direct mode to reverse mode operation

4. » forminimising the error in measurement of horizontal angles



Question Number : 185 Question Id : 586180367 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U ded TS & 3941 H, EDM Fr wifeter i ofoss i Tl & sner 8 (EDM - Regagsah
&l AT 39=H0T)

Options:

1. % SREE A FF A & o
2 x R=w A =0 == & fw

3. v TIEE AT ¥ REw A F8 =4 F o

A, SRR 0T EF AT F IR FA F F O

Question Number : 186 Question Id : 586180368 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25
The following statements (S1. 52, S3) are given in connection with a total station survey. Identify the INCORRECT
statement(s).

S1: Error in horizontal axis may be caused due to tilting axis.
S2: Horizontal distance is directly measured and sloping distance is deduced from it.
S3: Accuracy in phase shift measurement is less than pulse based measurement.

Options:

1.

S1 only

&

3. # SlandS3

4] « S2andS3

Question Number : 186 Question Id : 586180368 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



fam T Fu= (S1, S2, S3) Tw e TIF TIH0T & Fow # Fw 71v | 7og = (@) # =g #:1

S1: mﬁmﬁgﬁ:’,m%mm % FHIUT g Tar 2
s2: afafere g @ & =k 7 3R o & g &1 sEA § i e = B
$3: % fOrve AT # T, 958 IURE A9T ¥ FH g2 g

Options:

1. = =hae S1

2 % hao S2

3 % S1 3k 83

4 » S2 3T S3

Question Number : 187 Question Id : 586180369 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In a total station for carryving out the levelling operations, the automatic adjustment for any tilt can be achieved by:
Options:
1 R4 compensator mechanism

? w Stake out application

2

3. % COGO

4 % reference line/arc

Question Number : 187 Question Id : 586180369 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FaferRT F aa & T v ded v A, R g @ TEeEon §RESS Fee gan s R
'HT:I-FIT%':




Options:

3 WS (COGO)

4.« TN @A

Question Number : 188 Question Id : 586180370 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The collection of data and storage of data is done automatically in a total station by:
Options:
1. » alidade and floppy disk

? . data collector and memory card

3 % optical collimator and USB device

4. % optical plummet and memory card

Question Number : 188 Question Id : 586180370 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TS T H ZeT Toheld AR 31ET #3R0T @ aarT =anfag & & &Far Jar &

Options:

1. = vUfeEs 3k v B




2. o T FoeT HR FEN FE

1 Hiftewe Hiferde X Juaer Fasw

4. « Hfters o AR AAN FE

Question Number : 189 Question Id : 586180371 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

For setting out the total station at a point, the temporary adjustments have to be done. The temporary adjustment(s) that
have to be done recursively are:

Options:
1. » fixing and levelling

2 centering and sighting

3 centering and levelling

4. » levelling and sighting

Question Number : 189 Question Id : 586180371 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

v fig W dew T ¥ F F T, 3Eml AT O g g1 et 79 # e e A
HTYTT FHETOS &
Options:

1. = T 3l safeEr

2y Hefr AR mEfdEr



3. » WelEr AR sEfeEr

4. « oEteEr 3R i

Question Number : 190 Question Id : 586180372 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

The total station has to be properly handled in a survey work. Indicate an improper way of handling of the total station
from the following options.

Options:
1. » Before removing from the tripod. the foot screws were brought to the midpoint of the post.

2 » Formoving between stations, total station was transported fixing on the tripod stand.
3 Total station was returned to the carrying case after loosening all locks.

/. w» Lifting total station from its carrying case by grasping the handle or standards.

Question Number : 190 Question Id : 586180372 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FHeT0T T F T T F 30T YRR ¥ THET BT ¢ ST fAeenr & W, 2T T @
FAT FT Hfaa ael [Afeed a1
Options:

1 = grsuls g8 U Ugd, T FF, e F Audfg W &¢I gl

2. ¢
TF ¥ g BUA F FT FAY, Tied TR H IS 5 W TFT [@HRT o AT AT g




3w CIEd TUF & TR Al ol FA & FIE FH HIGT HH H I9H TG 1A g

A« OITH TS F S HUAT TS5 THSH FHF HIT HH & HAwrar 1 B

Question Number : 191 Question Id : 586180373 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The angle 8 between the pair of lines given by
F=3i+2j—k +A(+ 2]+ 2Kk) and © = 51— 2j— Ok, +u(3i + 2j+ 6Kk) is:

Options:
1. % cos ' (17/21)

2 x cos ' (13/21)
3 ¢ cosT(19/21)

4. » cos™(3/7)

Question Number : 191 Question Id : 586180373 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U Y@T HHE T =31+ 2j—k +A({+2j+ 2K) 3R T =5i—2j— 0k +u(3i+ 2]+ 6k) & &= & ¢ FoT
g
Options:

1. = cos(17/21)

2 wx cos'(13/21)



3 o cosH(19/21)

4. w cos7(3/7)

Question Number : 192 Question Id : 586180374 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

A manufacturer produces nuts and bolts. It takes 1 hour of work on machine A and 3 hours on machine B to produce a
package of nuts. It takes 3 hours on machine A and | hour on machine B to produce a package of bolts. He earns a
profit of T 17.50 per package on nuts and T 7.00 per package on bolts. How many packages of each should be produced
each day so as to maximize his profit, if he operates his machines for at the most 12 hours a day?

Options:

Question Number : 192 Question Id : 586180374 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

v FAE 7 3R e 7 39eT AT g1 7eH F U & AA0 A F v @i A w1 "2 3k
Tl B 9T 3 U & 1 BT &l §eT F Yha &7 AT s & AT 7T A X 3 ge 3k 7= B
T 1 9 F FAET AT g1 9 F¢d W g ke T17.50 # AT IR e W 7.00 iy = @
FE FAT g1 T T om F 3flwan 12 ¢ el A F oFEes war § A vde Rw e
YFST FT 3 AT ST MMET AfF Tg FIF o0 FT HOFIH T TH?

Options:

1. = T 8350

2 % T79.50



3. ¢ T7350

4. % T6250

Question Number : 193 Question Id : 586180375 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

A die is thrown twice and the sum of the numbers appearing is observed to be 6. What is the conditional probability that
the number 4 has appeared at least once?

Options:

Question Number : 193 Question Id : 586180375 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

UE U H & A% Fe AT g AR W N A Al WEAHT # Fo éeT 6 gar g1 5H A &
FEYAT WAl #4T & &7 T& 4 &7 T FF TF a7 T8 A7

Options:
1. = 0.2
2. w B85

3 « 04



Question Number : 194 Question Id : 586180376 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A doctor is to visit a patient. From the past experience, it is known that the probabilities that he will come by train, bus,
scooter or by other means of transport are respectively 0.3, 0.2, 0.1 and 0.4. The probabilities that he will be late are 1/4,
1/3, and 1/12, if he comes by train, bus and scooter respectively, but if he comes by other means of transport, then he
will not be late. When he arrives, he is late. What is the probability that he comes by train?

Options:
1. & 0.25

2 @ 0.50

3. % 0.64

A % 038

Question Number : 194 Question Id : 586180376 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

UH ST B UH AN H @A AT gl o el & HNR W 3EF &, 56, TRl 1 9NEed &
T ARTA § AW T AG Ti¥war Fawr 0.3, 0.2, 0.1 3k 04 F 3R IE I, 99 IR =X @
HET F A 3EF S ¥ e A wifierar wEen 144, 173, 3T 1712 & s 3w 37 9EEs F 3w
wres & e 8, & € el 81 39 T 5f & g g1 A 3T A @ 3w A i 7| w2

Options:

1. = 025

2. v 050

3. » 0.64



4. » 038

Question Number : 195 Question Id : 586180377 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Let X denote the sum of the numbers obtained when two fair dice are rolled. Then the variance of X is:

Options:
1. = 7.0010
? % 54.833

3. % 27417

A & 5.8330

Question Number : 195 Question Id : 586180377 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

&I FATT UTH el 9 Iood HEATHT &7 AT X g1 X & &F=or aem

Options:

1. = 7.0010
2 % 54833
3. % 27417

» 5.8330

g

Question Number : 196 Question Id : 586180378 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Which of the following does NOT necessarily refer to a malicious program?
Options:

1. & Viruses
? % Worms

3.« Web browsers

4. » Trojan Horses

Question Number : 196 Question Id : 586180378 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fom & o =l 3T v ¢ 0 gftey e 3 gefiT FE5 w2 22

Options:
1 L] W

2_&3@

3_@? aﬁ'm

4. = el

Question Number : 197 Question Id : 586180379 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

State whether the following statements are true or false:

(1) Almost all viruses are attached to an executable file.
(11) A virus cannot be spread without a human action.

Options:



1. = (i)—True, (i) —False

27 % (i) — False, (ii) — True

3 o (1) —Tme, (ii) — True

4], = (i)—False, (ii)—False

Question Number : 197 Question Id : 586180379 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TaT & A= Fy9 §E7 & 3HYET T9T)

(i) @ETeET Well IRH, U THSlHgead BIEd ¥ 33 g gl
(i) araw, AT fFar & e adr $a g

Options:

Question Number : 198 Question 1d : 586180380 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following keyboard shortcuts is used to change case in Microsoft Word?

Options:



1. v Shift +F3

? w Ctl+F3

3 % Alt+F3

/. % Shift+F2

Question Number : 198 Question Id : 586180380 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o § T =i O1 FEE aede AFETE 32 § 57 I&E9T & e 3umer &Har Sar 22

Options:

1. « Shift + F3

2 % Cirl + F3

3. % Alt + F3

4. % Shift + F2

Question Number : 199 Question Id : 586180381 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following function keys is used to launch the Spell Checker in Microsoft Word?
Options:
1. = F5

L2
#
i
=y



3. v F7

4 = FI2

Question Number : 199 Question Id : 586180381 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e & @ #la BFE ST, AFETE 5 H FIA A@d YE B & (o7 ST H A 87

Options:

T. & 'E5
2 u F6
3. « F7
4. = Fi2

Question Number : 200 Question Id : 586180382 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following kevboard shortcuts is used to hide/display the desktop on a Windows system?
Options:
1. « Windows key +D

2 % Windows key +H

3. % Alt+Ctrl+D

4 w Alt+Ctrl+H



Question Number : 200 Question 1d : 586180382 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o # @ FiF @1 FEE eae, FET s # s Bueitae & T 393 Rar ST 87

Options:

1. v SR FE 4D

3. %« At+Ctl+D

4. % Alt + Ctrl + H



